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6) JEMERALERK

7) AiEK
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—

) B R A K
EHAEK (Z01) .
A 4 5 6 7 8 9
— % Al (CFU/ml) 90 240 90 820 580 540
K W [
h kK O F o b A& ¥ (mg/L) <0.001 <0.001 <0.001 <0.001  <0.001  <0.001
g X O =2 o b & ¥ (mg/L) 0. 09 0.12 0.12 0.15 0.07 0.13
5 |7 VH UK OFEOAEW (ng/L) 0.013 0.016 0.014 0.019 0. 007 0.015
i 17.3 14.0 15.5 14.3 13.4 11.8
Bk 4 A v (mg/L) &K 12.9 9.0 8.9 7.6 5.6 7.8
It@ 14.8 12.6 12.2 10.3 10.9 9.6
i 4] 2.6 2.5 2.7 2.9 2.3 2.3
H % 47| (TOC)  (mg/L) | Fef& 1.4 1.6 1.5 1.4 1.6 1.6
?i@ 1.8 1.8 1.9 1.8 1.8 1.7
i 7.36 7.30 7.29 7.30 7.32 7.32
g |PH fiE A 7.10 7.11 7.07 6. 98 7.00 7.09
= DA% 7.27 7.21 7.18 7.17 7.19 7.21
IS
R & TR | HUR TR FARR | O FAKRRE L FAKRE
H B 31 12 17 22 14 20
1, EO(E) K& 3.2 3.4 3.4 3.5 3.9 3.7
?i’j 5.1 4.9 5.2 6.3 5.5 5.5
5 47 26 35 41 13 35
& EO(E) K 1.9 1.9 1.4 1.1 1.1 1.5
RIS 5.1 5.1 4.4 5.5 4.4 4.1
HAE A b‘ac B ok ¥ O FE (mg/L)
HHH |F o iy #  (mg/L)
S 7%1%%%% (KMnO, Y8 %% &)  (mg/L) 3.6 3.5 3.3 5.0 3.8 3.9
j=a=] 20. 9 24. 1 28.3 29. 6 31.6 29.3
7K HO(C) &K 14.3 19.0 23.2 27. 4 28.5 25. 4
IPi’] 18.3 21. 4 24.9 28.3 29.9 27.6
B 38. 4 35.8 34.9 34. 4 35. 4 35.5
7 % o] ) & (mg/L) &K 34.2 30. 2 28. 1 28.5 24.3 30.0
¥ 36.3 33.7 33. 1 31.3 32.8 32.3
fi #  (mg/L) 3.4 4.7 4,4 4,8 5.9 5.2
5] 0.03 0.02 0.02 0.03 0.01 0.02
T oy E = 7 B ® F (g/l) HK <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
NB5) 0.01 <0. 01 <0. 01 <0. 01 <0.01 <0.01
izl e e = # (mg/L) 0. 89 0.87 0. 65 0. 80 0.95 0. 88
fitt fig 4 7 > (mg/L) 12.5 11.3 9.3 9.3 11.7 10.6
B o v A fEFE (mg/L) 31 31 27 24 28 29
~ 7 %X ¥ v A O (ng/L) 9 9 9 7 9 8
B 17.4 16.2 16.7 16.5 16.3 15.2
EE = {5 L] = (mS/m) | A 14.9 13.0 12.8 11.6 10.3 12. 1
— Jéi@ 16. 4 15.0 14.9 13.4 14.2 13.6
e e 9.8 8.4 7.8 6.6 6.5 7.5
H R pea i3 % (mg/L) I 6.5 6.5 5.9 4.7 5.5 5.1
H RIS 8.2 7.6 6.7 6.0 5.9 6.4
= SbE ) E  (mg/L) 2 3 2 2 1 2
= 0.158 0.175 0. 199 0.297 0. 204 0.218
%40 B W Sk FA%|  0.130  0.155 0.162  0.161 0.148  0.154
) 0. 144 0. 163 0.182 0. 236 0.185 0.188
2 5 oo F o W'E (ng/L) 0.008 0.015 0.011 0.010 0.010 0. 006
5] 1.9 1.8 2.5 2.3 2.1 2.0
WA (T0C ) (mg/L) | fAK 1.3 1.5 1.5 1.4 1.5 1.5
) 1.6 1.6 1.8 1.8 1.7 1.6
B @) D (mg/L) 1.0 0.8 0.4 0.4 0.6 0.5
C O D (mg/L) 2.7 2.3 2.1 2.3 2.4 2.1
WO om E (B OE ) (ng/L) 0.011 0.012 0.011 0.018 0.014 0.014
N i) (MPN/100m1) 3 1 4 200 3 12
F U o ~m X &% >4 ke (mg/L) 0.015 0.019
7 U N 2R U Yy A (/10 0 0
g & M F @ E (CFU/ml) 0 0
B ik ¥ 4+ v (mg/L) 0.03 0.04 0.03 0.03 0.05 0.04
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10 11 12 1 2 3 EIEx e 53158 Sy
940 38 110 80 130 80 12 940 38 320
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001 12 <0.001 <0.001  <0.001
0.17 0. 08 0.16 0.15 0.13 0.11 12 0.17 0.07 0.12
0.013 0. 005 0.012 0.019 0.012 0.013 12 0.019 0. 005 0.013
14.0 14.3 15. 7 17.5 18.3 16.6
7.5 12.5 10.0 13. 1 13.6 11.7 250 18.3 5.6 13.0
11.3 13.6 14. 3 15. 2 16.3 14. 7
1.9 1.7 2.1 2.2 2.3 1.9
1.4 1.5 1.5 1.5 1.5 1.4 250 2.9 1.4 1.7
1.6 1.6 1.7 1.7 1.6 1.6
7.36 7.43 7.47 7.57 7.49 7.44
7.22 7.21 7.24 7.30 7.29 7.19 250 7.57 6.98 7.28
7.29 7.34 7.39 7. 45 7. 40 7.31
TR | FAKE | FARE | PAKE | PAKE L PARE 250 KR
8.9 4.3 12 7.5 9.6 6.5
3.4 3.5 3.8 3.3 3.0 3.2 250 31 3.0 4.8
4.6 3.8 4.8 3.8 4.0 3.9
16 1.6 19 16 21 13
1.0 0.81 1.2 2.8 2.3 1.4 250 47 0.81 3.9
3.0 1.1 3.0 4.2 4.3 3.0
5.2 3.4 3.7 3.8 3.2 3.1 12 5.2 3.1 3.8
25. 7 19.6 16.9 11.9 10. 8 16. 2
19.9 16. 7 9.5 8.5 8.6 10.7 250 31.6 8.5 19.8
22.5 18.2 12.8 10. 1 9.9 14. 1
36.5 37.2 39.3 38.7 37.6 38.5
29. 2 33.9 34. 1 36. 6 34. 6 33. 1 250 39.3 24.3 34.8
34. 1 36. 1 37.5 37.6 36. 4 36. 2
5.0 4.7 5.2 5.3 4.4 5.5 12 5.9 3.4 4.9
0.01 0. 06 0. 02 0. 08 0. 04 0. 04
<0. 01 <0. 01 <0. 01 <0. 01 0. 01 <0.01 250 0.08 <0. 01 <0. 01
<0.01 0. 01 0. 01 0.01 0. 02 0.01
0.82 1.03 1.17 1.10 1.16 1.14 12 1.17 0. 65 0. 96
8.5 12.5 12. 1 11.7 12. 4 12.5 12 12.5 8.5 11.2
24 30 31 32 32 31 12 32 24 29
7 9 9 9 9 9 12 9 7 9
16.8 17.4 17.8 18. 4 18. 4 17.7
11.8 16. 1 15.0 16.5 16. 8 14. 4 250 18.4 10.3 15. 7
14.9 16. 8 17.0 17.3 17.6 16.7
8.8 9.3 11.6 12.2 12.2 11.5
7.1 8.1 8.6 10. 4 10.7 8.5 250 12.2 4.7 8.4
8.1 8.9 10. 4 11.6 11.5 9.7
3 1 2 3 2 2 12 3 1 2
0. 256 0.176 0.195 0. 160 0. 150 0. 156
0. 148 0. 150 0. 157 0. 139 0. 136 0.137 48 0. 297 0. 130 0.171
0. 187 0.162 0. 169 0.147 0.143 0. 147
0. 005 0.010 0. 007 0.012 0.010 0. 009 12 0.015 0. 005 0. 009
1.7 1.7 1.7 1.8 1.6 1.7
1.4 1.5 1.5 1.4 1.4 1.4 250 2.5 1.3 1.6
1.5 1.5 1.6 1.5 1.5 1.5
0.7 0.5 0.8 0.9 0.9 1.2 12 1.2 0.4 0.7
2.4 2.3 2.3 2.1 2.3 2.1 12 2.7 2.1 2.3
0.015 0.013 0.014 0.012 0.011 0.011 12 0.018 0.011 0.013
120 4 22 13 11 9 12 200 1 34
0.017 0.016 4 0.019 0.015 0.017
0 0 4 0 0 0
1 0 4 1 0 0
0. 03 0. 05 0. 05 0. 05 0. 05 0. 04 12 0. 05 0. 03 0. 04
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B HARAEK (£D2)

A
S 4 5 6 7 8 9
H R I v LAk OYEONAEW g/ <0.0003  <0.0003|  <0.0003|  <0.0003|  <0.0003|  <0.0003
K B K O F © b & W (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 ~<0.00005
t L v kO ZE O A W (ng/l) <0.001 <0. 001 <0.001 <0.001 <0. 001 <0.001
vt #F K O 2 o b A W (g/l) <0.001 <0. 001 0. 001 0. 001 0. 001 0. 001
N ofi oy v oa b & o (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
i iy fig He % # (mg/L) 0. 005 0. 004 <0. 004 <0. 004 <0. 004 <0. 004
YTk A Ay RO ALY T v (mg/L) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001
Y EERE =R N OVHE A MR E E (mg/L) 0. 89 0.87 0. 65 0. 80 0.95 0.88
7 v F K O E o A B (g/L) 0.10 0.11 0.10 0.16 0.11 0.09
R U F K O ZE o A W (me/l) 0.1 0.1 0.1 0.1 0.1 €0.1
s} o) it R % (mg/L) <0.0002  <0.0002|  <0.0002/  <0.0002|  <0.0002|  <0.0002
L,4 — ¥ F * ¥ (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
iiZI%Z—:,;_y/D;DIj; ; 529 (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
wl|¥ 7 = = & v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
F 5 2 v omr = F L v (mgl) <0.001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
YU Z B v = F L v (mg/l) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
e NZ € v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
i % B (ng/L)
4 =4 = i3 % (mg/L)
7 = =] 7R L 2 (mg/L)
I [V 7 = = 55 % (mg/L)
Y 7 v % 7 v onw A % v (ng/l)
B F % (mg/L)
H w0 U oo~ o m A & v (ng/L)
b ) 7 = o fE [ (mg/L)
7 m ® Y 7 v oo A Z v (mg/l)
- = = AN Ju 2 (mg/L)
A A A 7T A F v K (mg/L)
o kE X x o b A& W (mg/l) <0.1 <0.1 <0.1 <0.1 0.1 <0. 1
TN =0k RXZOlAEYW g/l 0. 05 0. 07 0.09 0.11 0.04 0. 09
M &k = o 4 A W (mg/l) 0.1 0.1 0.1 0.1 <0.1 <0.1
FFU T AR REDONE W g/l 13.4 11.6 10. 2 8.2 12.0 9.8
AN T L v SRy N (EE) (ng/L) 40 40 36 31 37 37
7 & % | Y (mg/L) 94 90 104 73 103 76
= 4 A v R/ om & % Al (mg/L) <0. 02 <0. 02 <0. 02 <0.02 <0. 02 <0. 02
¥ 7 2 N > (ng/L) 2 1 <1 3 4 3
2—%7”“/1/4/1“/1/z\z‘~/u(ng/L) 2 10 1 1 <1 1
F 4 A v F om IEF % Al (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — L F1 (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 ~ <0.0005  <0.0005
T o FELCRDEONA W (mg/L) <0. 002 <0. 002
77 v kO™ E O b A& B (mg/L) <0. 0002 <0. 0002
= v F Vv kO Z oA P g/l <0. 002 0. 003
L,2- ¥ 7 w w = % v (mg/L) <0. 0004 <0. 0004
~ L = > (mg/L) <0. 04 <0. 04
TEALEBEY Q- FL~F ) (ng/L) <0.008 <0. 008
D # ES i (mg/L)
Bl v w7+ b= FU L (g
Eﬁ m ok 7 v 5 — L (mg/l)
E; i P8 E) <1 A
= | 3 I3 i (ng/L)
m|,,1- YV 7 v owmw x ¥ v (mg/L) <0.03 <0. 03
HixFL-t-7F L= —F L MBE) (mg/L) <0. 002 <0. 002
5" = GiA JE (TON)
7 VA ) VAR
3 & %5 * i (CFU/m1)
LIl — ¥ 7 v g =x F L v (ng/l) <0.01 <0.01
YL A a7 H o AR Pk (PFOA) (ng/L) 1 16

KO~V 7 A a4 s % g (PFOS)
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10 11 12 1 2 3 [B1%% 58] AR RIS
<0.0003  <0.0003  <0.0003  <0.0003|  <0.0003|  <0.0003 12 <0.0003]  <0.0003]  <0.0003
<0.00005 ~ <0.00005 <0.00005 <0.00005 <0.00005 <0.00005| 12| <0.00005 <0.00005 <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 001 <0. 001 <0. 001
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 004 <0. 004 <0. 004 0. 005 0. 006 0.012 12 0.012 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0. 82 1.03 1.17 1.10 1.16 1.15] 12 1.17 0. 65 0. 96
0.08 0.10 0. 09 0. 09 0. 09 0.08] 12 0.16 0.08 0.10
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 12 <0. 1 <0. 1 0.1
<0.0002  <0.0002  <0.0002  <0.0002|  <0.0002|  <0.0002 12 <0.0002|  <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0.004| 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0.16 0.04 0. 09 0.07 0. 09 0. 05 12 0.16 0.04 0.08
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
7.0 12.8 12.7 13.5 13.7 3.0 12 13.7 7.0 11.5
31 39 40 41 41 40 12 41 31 38
75 94 98 84 94 99 12 104 73 90
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
2 2 1 1 1 1 12 4 <1 2
2 2 2 3 3 5 12 10 <1 3
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005  <0.0005  <0.0005  <0.0005  <0.0005|  <0.0005 12| <0.0005  <0.0005  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002]  <0.0002|  <0.0002
<0. 002 <0. 002 4 0. 003 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <0.0004  <0.0004  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<1 <1 4 <1 <1 <1
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 01 <0. 01 4 <0.01 <0. 01 <0.01
17 15 4 17 11 15
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B HRAEK (20 3) FHAA

/] 5 7 10 2 [=1%5 1 =459 F-t5)
HH
1,3—y a2 (D—D) (mg/L) <0.0005|  <0.0005  <0.0005  <0.0005 4, <0.0005  <0.0005  <0.0005
22 —DPA (X F7K ) g/l <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
E P N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
M C P A (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
T ¥ o = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * 7 - — F (mg/L) <0.0008|  <0.0008|  <0.0008  <0.0008 4, <0.0008  <0.0008  <0.0008
VA ) = % > (mg/L) <0.0001  <0.0001  <0.0001|  <0.0001 4/ <0.0001  <0.0001|  <0.0001
7 = =4 N 2 (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
7 3 k = A (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
7 = 7 =i — L (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
A4 YV % B F A 2 (mg/L)| <0.00005 <0.00005 <0.00005 ~<0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ & A (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4 <0.00003  <0.00003  <0.00003
A Fuah7 (MIPC) (mg/L) <0.0001|  <0.0001| <0.0001|  <0.0001 4/ <0.0001  <0.0001|  <0.0001
AV 7aF 47 (1IPT) (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0.003 <0.003
A 77 = H N Y (mg/l)
A4 7 X2k A (IBP) (mg/L) <0.0009|  <0.0009|  <0.0009  <0.0009 4 <0.0009  <0.0009  <0.0009
A4 X 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4 <0.00006 <0.00006  <0.00006
A4 v X 7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009  <0.00009 4 <0.00009 <0.00009  <0.00009
— X 7 v H v 7 (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
— 7 = v 7 ua vy 7 A (ng/L) <0.0008  <0.0008|  <0.0008  <0.0008 4, <0.0008  <0.0008  <0.0008
TURZNNT 7 (R ) (mg/L) <0.0001  <0.0001| <0.0001  <0.0001 4/ <0.0001  <0.0001|  <0.0001
F % ¥ ¥ v Xk v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
I X 2 v 8 (A B 4 ) (mg/L)| <0.0004  <0.0004| <0.0004  <0.0004 4 <0.0004| <0.0004  <0.0004
F U ¥ X + r B ¥ (mg/l)
Vil z A N A (mg/L) | <0.000006/ <0.000006| <0.000006 <0.000006 4| <0.000006 <0.000006 <0.000006
B 7 = v A b v — JbL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008 <0.00008 <0.00008
Vi JL o % -~ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
o0 N U g (N A C ) (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4 <0.0003|  <0.0003  <0.0003
i) JL N 7 = > (mg/L) | <0.000003| <0.000003| <0.000003 <0.000003 4| <0.000003 <0.000003 <0.000003
* /27 73y (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
X ¥ 7 v > (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
4 2 Jv s > (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4, <0.0003  <0.0003  <0.0003
7 ] N A — F (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o K ¥ X — b (mg/L) <0.0002|  <0.0002|  <0.0002  <0.0002 4, <0.0002|  <0.0002  <0.0002
7 v A 7 v v 7 (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
salr=ra7=> (CNP) (mg/L) €0.0001  <0.0001  <0.0001|  <0.0001 4, <0.0001  <0.0001  <0.0001
7 m JL B U 7 A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
saoua o=, (TPN) (m/L) <0.0005  <0.0005|  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 T A ¥ > (mg/L) | <0.00001 <0.00001 <0.00001 <0.00001 4 <0.00001 <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4 <0.00003  <0.00003  <0.00003
> v nwaey (DCMU ) (mg/L) <0.0002|  <0.0002|  <0.0002  <0.0002 4, <0.0002| <0.0002/  <0.0002
> u~X=,L (DBN) (mg/L) <0.0003  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003|  <0.0003
)R A(DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008 <0.00008 <0.00008
DX 7 U 4 b (mg/L) <0.0001  <0.0001  <0.0001|  <0.0001 4, <0.0001  <0.0001|  <0.0001
2RI (= F )V FF AR ) (mg/L) | <€0.00004 <0.00004| <0.00004 <0.00004 4 <0.00004 <0.00004 <0.00004
CF A DN A — R E K (ng/L)
D 5P 7 = JL (mg/L) | <0.00009 <0.00009 <0.00009 <0.00009 4 <0.00009 <0.00009 <0.00009
oo\ ok oy 7 F L (mg/L) | <0.00006 <0.00006| <0.00006 ~ <0.00006 4 <0.00006 <0.00006  <0.00006
v < v v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003 <0.00003 <0.00003
Y A X Xk U v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
% A k - — k (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 A K U v (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4, <0.0003|  <0.0003  <0.0003
vl A T D% J > (mg/L) | <0.00003 <0.00003| <0.00003 <0.00003 4 <0.00003 <0.00003 <0.00003
v A N s v (mg/L) <0. 008 <0. 008 <0. 008 <0.008 4 <0.008 <0. 008 <0.008
K AR, )U;"A(ﬁw/*l\\)&t)“ (ng/L)
AFNVAI)FF T R —h
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FIHREK (FD4) BEEE

¢ 5 7 10 2 EIE~ e K N3]

HH

¥ 7 D4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S 7 7 2 (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002  <0.0002| <0.0002
F 4 ¥ H v 7 (mg/L) <0.0008  <0.0008|  <0.0008|  <0.0008 4 <0.0008| <0.0008  <0.0008
F A+ 7 7 F — F A F L (ng/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F F X v H v 7 (mg/l) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
7 7 U o b U F v (mg/l)

TN T HLT (MBPMC) (ng/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
b U 7 = = JL (mg/L) <0.0003|  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003| <0.0003
U7k (DEP) (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002/ <0.0002  <0.0002
KU v 7 7 vV — )b (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU o7 v 7 U (mg/l) <0.0006|  <0.0006  <0.0006  <0.0006 4, <0.0006  <0.0006| <0.0006
A i s N = K (mg/L) <0.0003|  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003| <0.0003
A 5 o — (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= ~ g N A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005| <0.00005
v = 7 =4 = JU (mg/L) 0.0003|  <0.0001|  <0.0001  <0.0001 4 0.0003|  <0.0001  <0.0001
E I Y X ¥ 7 =  (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004 <0.00004
o7V x—hk (I L —bF) (ng/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
U X 7 = v F F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005| <0.00005
vy 7 F v 7 (mg/l) <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
=4 =4 Sz o > (mg/L) <0.0005 ~ <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005  <0.0005
R A =4 = L (mg/L) | <0.000005 <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0.000005
Jxz=tuaF A+ (MEP) (mg/l) <0.0001  <0.0001|  <0.0001  <0.0001 4| <0.0001| <0.0001  <0.0001
72 /) 7 N7 (BPMC) (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4 <0.0003| <0.0003|  <0.0003
= = U VN ' > (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005  <0.0005
7z F F 2 (MPP) (mg/L)| <0.00006 <0.00006 <0.00006| <0.00006 4] <0.00006| <0.00006 <0.00006
7 x> b= — k(P AP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v N 7 ¥ I K (ng/L) <0.0001  <0.0001| <0.0001|  <0.0001 4/ <0.0001| <0.0001  <0.0001
= VA = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
-7 % 7 n — JL (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4 <0.0003| <0.0003|  <0.0003
-7 i S 2N A (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
7 7 ua 7 = ¥ v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
7 T v+ A (mg/l) <0.0003|  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003| <0.0003
7 v F 7 7 v — b (ng/L) <0.0005|  <0.0005  <0.0005  <0.0005 4, <0.0005 ~ <0.0005| <0.0005
7 =4 D4 S N > (mg/L) <0.0009| <0.0009  <0.0009  <0.0009 4, <0.0009| <0.0009|  <0.0009
7 wa F A K A (mg/L)| <0.00007 <0.00007 <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 v v =z F v — b (mg/l) <0.0005| <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005  <0.0005
A s = A = K (mg/L) <0.0005| <0.0005  <0.0005  <0.0005 4, <0.0005  <0.0005| <0.0005
7 a X ;v — )L (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4 <0.0003| <0.0003|  <0.0003
A g £ 7  F K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J S L (mg/L) <0.0002| <0.0002  <0.0002|  <0.0002 4/ <0.0002  <0.0002| <0.0002
~N =4 > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N Y v v 7 oa v (ng/l) <0.0009  <0.0009|  <0.0009| <0.0009 4 <0.0009| <0.0009|  <0.0009
~N o Y 7 = F w7 (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4/ <0.00005 <0.00005 <0.00005
~ N X 7 > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A XU v (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N 7 7 b 7 (mg/L) <0.0002| <0.0002  <0.0002|  <0.0002 4/ <0.0002  <0.0002| <0.0002
Ry (R2ryy) (ng/L) <0.0001| <0.0001  <0.0001  <0.0001 4/ <0.0001  <0.0001  <0.0001
~N v 7 L E — K (mg/L) <0.0007| <0.0007  <0.0007|  <0.0007 4/ <0.0007  <0.0007| <0.0007
A A F 7 ¥ — K (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
~7F v (~T Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
A2y 7 (MCPP) (ng/L) <0.0005| <0.0005  <0.0005  <0.0005 4, <0.0005 ~ <0.0005| <0.0005
A V4 S L (mg/L) <0.0003  <0.0003 ~ <0.0003  <0.0003 4/ <0.0003  <0.0003| <0.0003
A v = e v L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X FF > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004 <0.00004
A I 7 A v E Vv (ng/l) <0.0004| <0.0004  <0.0004|  <0.0004 4, <0.0004  <0.0004| <0.0004
A h ) -7 2 > (mg/L) <0.0003  <0.0003  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
A 7 = JF T v b (ng/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002/ <0.0002  <0.0002
A 7 =4 = L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
- D) s — K (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4] <0.00005| <0.00005 <0.00005
J=! B8 A (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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H
FH 4 5 6 7 8 9
— LS M (CFU/m1) 140 130 140 940 930 530
x i
h K Y 2 o b & ¥ meg/L) <0.001] <0.001  <0.001] <0.001] <0.001 <0.001
% &k O £ o I A ¥ (mg/L) 0.22 0.17 0.26 0.23 0.15 0.35
pre v H U R ZE0EYW (ng/l) 0. 049 0.026 0.029 0.024 0.033 0.043
= 16. 1 14.0 15.0 14.1 13.1 12.5
W ok % 4 4 v (ng/l) &K 12.3 8.9 8.5 6.2 4.1 7.2
It’} 14.6 12.5 11.9 10.0 10. 3 9.5
e B 2.3 2.0 3.0 2.6 4.9 2.2
H % ¥ (ToC)  (mg/L) Ii& 1.6 1.5 1.7 1.6 1.6 1.7
q:i’] 1.9 1.8 2.0 2.0 2.1 1.9
i 7.43 7.30 7.31 7.32 7.36 7.37
g |PH [} 4N 7.00 7.10 7.05 7.00 7.00 7.11
- Tty 7.30 7.21 7.19 7.16 7.19 7.26
IS
B X | PRR | DUR | AR | TAR | FAR | FAR
H %= 8.9 7.6 16 22 38 10
@, EO(E) KK 2.9 3.1 4.0 4.0 4.3 4.0
It’j 5.5 5.4 6.0 7.3 8.1 6.4
55 10 10 14 39 95 11
¥ EO(E) K& 1.0 0. 87 1.0 1.6 1.4 0.72
2y 6.6 6.8 6.0 8.3 12 7.3
mapEn [F B f& B FE (mg/L)
BHEH |5 ‘éé? ¥ #& (mg/L)
2R TE ﬁ%%%@ (KMnO, Y8 & &)  (mg/L) 4.2 4.1 4.0 6.8 4.4 1.7
e 21.3 24. 1 28.5 29.3 31. 1 28.9
7K B0 HIK 13.7 18.3 22.7 26.5 27.0 24.8
It’} 18.2 21.2 24.7 27.9 29.5 27.0
B 38.2 35.5 36. 2 33.0 35.0 36. 0
7 IV 7 ) B (mg/L) wIK 31.5 30. 3 26. 8 25.2 22.9 27.5
DA% 36.0 33.4 32.8 30. 3 32.2 32. 1
i3 £ (mg/L) 2.4 4.2 4.2 4.6 5.1 5.5
B 0.05 0.02 0.02 0.01 0. 01 0.02
7 oy o' = 7 e # F (g/l) KK 0. 01 <0. 01 <0. 01 0. 01 0. 01 0. 01
SEH 0. 01 0. 01 <0. 01 0. 01 0. 01 0. 01
fi§ i3 e = #  (mg/L) 0.82 0. 81 0. 89 0.64 0. 89 0.93
fie fiz A 7 v (mg/L) 12.3 11.2 10. 1 8.9 11.5 11.0
H o v v A fEE (mg/L) 31 31 29 25 28 29
<~ 7 % ¥ v A fE FEE (ng/L) 9 9 9 7 9 8
55 17.2 16. 3 16. 4 16.2 16.6 15. 6
& = & i K (mS/m) | el 14.8 13.2 11.8 10. 2 9.4 11.3
1& 16.2 15.0 14. 6 12.9 13.9 13. 4
— B 9.7 7.9 7.4 6.5 6.7 7.4
(v 17 fite # (mg/L) HIK 5.5 6.1 5.6 4.8 4.7 4.8
IH SEH 8.2 7.2 6.6 5.9 5.8 6.5
B [ i3 WY B (mg/L) 6 6 6 6 4 5
B 0.163 0.187 0. 225 0. 497 0.238 0. 300
N - S S 3 wAK 0.128 0.163 0.185 0.162 0.162 0.171
RA%) 0.146 0.170 0. 204 0.276 0.215 0.216
L BB oN~a F 2 WwE (ng/lL) 0.011 0. 009 0.014 0. 006 0. 009 0. 007
B 2.0 1.9 2.8 2.4 2.7 2.1
WM A B (ToC ) (mg/L) | fIK 1.3 1.5 1.5 1.5 1.6 1.6
SE 1.6 1.7 1.8 1.8 1.8 1.7
B O D (mg/L) 1.4 0.4 0.6 0.5 0.6 0.7
C O D (mg/L) 3.1 2.4 2.2 2.8 2.5 2.4
%O WO E (R OE ) (mg/l) 0.010 0.011 0.013 0.016 0.013 0.015
AN iV (VPN/100m1) <1 2 6 460 <1 10
U ~wm A & & e (ng/L) 0.013 0.023
7 YV 7 F AR Y Yy A {l/10L) 0 0
WO K R E B W (mg/l) 92 87 109 77 92 89
e & M F (CFU/ml) 0 0
s W i %% (N /ml) 340 220
B b ¥ 4 A v (mg/L) 0.03 0. 04 0. 04 0.03 0. 04 0. 04
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10 11 12 1 2 3 EIE= 54 A NAS)
990 59 28 90 77 130 12 990 28 350
<0.001  <0.001 <0.001 <0.001 <0.001] <0.001 12] <0.001] <0.001] <0.001
0.23 0. 09 0.10 0.15 0.18 0. 14 12 0.35 0. 09 0.19
0.018 0. 007 0. 005 0.017 0. 023 0.019 12 0. 049 0. 005 0. 024
14. 1 14. 6 16.0 17.9 20.0 16.9
7.2 12.6 9.2 12.7 13.6 11.6 252 20.0 4.1 12.8
11.2 13.5 14. 1 15.0 16.3 14. 6
2.2 2.0 2.2 2.1 2.4 2.1
1.5 1.5 1.5 1.6 1.6 1.5 252 4.9 1.5 1.8
1.7 1.6 1.7 1.7 1.8 1.7
7. 40 7.45 7.48 7.55 7.56 7. 48
7.21 7.15 7.09 7.23 7.25 7.12 252 7.56 7.00 7.29
7.33 7.32 7.39 7.44 7. 40 7.33
KRR | FKRE | FKRE | FAKRE | FKRE | FAKRERE 252 TR
10 7.8 9.4 5.2 9.4 6.2
4.1 3.4 3.6 3.4 3.2 1.3 252 38 1.3 5.4
5.2 4.2 4.9 3.9 4.4 4.1
12 10 7.7 6.7 19 14
1.2 0. 56 0.74 2.6 2.4 1.3 252 95 0. 56 5.9
5.5 2.0 2.9 4.6 5.3 4.0
5.1 3.2 3.7 4.5 3.6 3.5 12 6.8 3.2 4.3
25.5 19.3 17.0 11.5 10.5 16.3
18.9 16.3 8.6 8.2 8.0 10.3 252 31.1 8.0 19. 4
21.7 17.8 12. 1 9.8 9.5 14.0
36.0 37.1 39.4 38.6 37.6 37.2
29. 4 33. 4 30. 2 36. 2 34. 4 32.6 252 39.4 22.9 34. 4
33.7 35.7 37.1 37.4 36. 1 35. 4
4.2 5.2 4.3 4.9 3.1 4.9 12 5.5 2.4 4.4
0.01 0.08 0. 05 0.04 0.10 0. 06
<0. 01 <0. 01 <0. 01 0. 01 0. 01 0. 01 252 0.10 0. 01 0. 01
0. 01 0. 01 0. 01 0. 01 0. 02 0. 01
0.78 1.05 1.16 1.07 1.14 1.15 12 1.16 0. 64 0.94
8.8 12.7 12.2 11.7 12.3 12.8 12 12.8 8.8 11.3
24 31 31 33 33 31 12 33 24 30
7 9 9 9 9 9 12 9 7 9
16.9 17.2 17.9 18.6 18.8 17.7
11.5 16. 1 13.3 16.6 16. 3 14.2 252 18.8 9.4 15.5
14.8 16.6 16.9 17.3 17.5 16.6
8.8 9.4 11.6 12.4 12. 4 11.7
7.0 7.8 7.9 10. 2 10. 6 8.4 252 12. 4 4.7 8.4
8.0 8.8 10. 4 11.6 11.5 9.9
5 1 1 2 4 3 12 6 1 4
0. 238 0.186 0.175 0. 200 0.172 0. 153
0. 159 0. 149 0. 149 0.138 0. 134 0. 145 48 0. 497 0.128 0.184
0. 200 0.162 0.162 0. 156 0.149 0.148
0.010 0.012 0.011 0.010 0. 009 0.014 12 0.014 0. 006 0.010
1.8 1.8 1.8 1.9 1.7 1.8
1.4 1.5 1.5 1.4 1.4 1.4 252 2.8 1.3 1.6
1.6 1.6 1.6 1.5 1.5 1.5
0.8 0.5 0.6 0.4 1.0 1.2 12 1.4 0.4 0.7
2.1 2.3 2.1 2.3 2.6 2.0 12 3.1 2.0 2.4
0.013 0.013 0.014 0.011 0.010 0.011 12 0.016 0.010 0.012
72 8 3 2 3 9 12 460 < 48
0. 020 0.015 4 0.023 0.013 0.018
0 0 4 0 0 0
73 94 95 93 92 94 12 109 73 91
1 0 4 1 0 0
150 780 4 780 150 370
0. 04 0. 05 0. 04 0. 05 0. 05 0. 04 12 0. 05 0.03 0. 04




SRERAEKR (£D2)

A
S 4 5 6 7 8 9
H R I v LAk OYEONAEW g/ <0.0003  <0.0003|  <0.0003|  <0.0003|  <0.0003|  <0.0003
K B K O F © b & W (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 ~<0.00005
t L v kO ZE O A W (ng/l) <0.001 <0. 001 <0.001 <0.001 <0. 001 <0.001
vt #F K O 2 o b A W (g/l) <0.001 <0. 001 0. 001 0. 001 0. 001 0. 001
N ofi oy v oa b & o (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
i iy fig He % # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
YTk A Ay RO ALY T v (mg/L) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001
R e R K NI R RE 2 K (mg/L) 0. 82 0.81 0. 89 0.64 0.89 0.93
7 v F K O E o A B (g/L) 0. 09 0. 09 0.10 0.10 0.11 0.10
R U F K O ZE o A W (me/l) 0.1 0.1 0.1 0.1 0.1 €0.1
s} o) it R % (mg/L) <0.0002  <0.0002|  <0.0002/  <0.0002|  <0.0002|  <0.0002
L,4 — ¥ F * ¥ (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
iiZI%Z—:,;_y/D;DIj; ; 529 (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
wl|¥ 7 = = & v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
F 5 2 v omr = F L v (mgl) <0.001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
YU Z B v = F L v (mg/l) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
e NZ € v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
i % B (ng/L)
4 =4 = i3 % (mg/L)
Vi o o Vi L 2 (mg/L)
I (¥ 7 = = 55 % (mg/L)
Y 7 o ® 7 v oo X & v (mg/lL)
B F % (mg/L)
H w0 U oo~ o m A & v (ng/L)
b ) 7 = o fE [ (mg/L)
7 m ® Y 7 v oo A Z v (mg/l)
- = = AN Ju 2 (mg/L)
A A A 7T A F v K (mg/L)
o kE X x o b A& W (mg/l) <0.1 <0.1 <0.1 <0.1 0.1 <0. 1
TN =0k RXZOlAEYW g/l 0.13 0.10 0.19 0.19 0.12 0.26
M &k = o 4 A W (mg/l) 0.1 0.1 0.1 0.1 <0.1 <0.1
FFU T AR REDONE W g/l 13.1 11.3 11.1 7.7 11.8 10.0
AN T L v SRy N (EE) (ng/L) 40 40 38 32 37 37
7 & % | Y (mg/L) 98 98 116 83 98 91
= 4 A v R/ om & % Al (mg/L) <0. 02 <0. 02 <0. 02 <0.02 <0. 02 <0. 02
2 - %+ A 2 > (ng/L) 2 2 1 2 3 4
2- A F ) A Y R V% A — b (ng/L) 3 11 2 1 1 2
F 4 A v F om IEF % Al (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — L F1 (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 ~ <0.0005  <0.0005
T o FELCRDEONA W (mg/L) <0. 002 <0. 002
77 v kO™ E O b A& B (mg/L) <0. 0002 <0. 0002
= v N kO ZE Ok E W (mg/L) <0. 002 <0. 002
L,2- ¥ 7 w w = % v (mg/L) <0. 0004 <0. 0004
h % = > (mg/L) <0. 04 <0. 04
TEAEBEY Q- F L ~F ) (ng/L) <0.008 <0.008
D # ES i (mg/L)
Bl v w7+ b= FU L (g
Eﬁ m ok 7 v 5 — L (mg/l)
E; i P8 E) <1 A
& |0 A 1 iz (mg/L) 3.7 4.0
m|,,1- YV 7 v owmw x ¥ v (mg/L) <0.03 <0. 03
HixFL-t-7F L= —F L MBE) (mg/L) <0. 002 <0. 002
5" = GiA JE (TON) 14 22
7 VA U VAR -1.6 -1.7
3 & %5 * s (CFU/m1)
LIl — ¥ 7 v g =x F L v (ng/l) <0.01 <0.01
YL A e H o AR Pk (PROS) (ng/L) 5 6

KO~V 7 A a4 s % g (PFOS)
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10 11 12 1 2 3 [A1%% 53] A% ¥

<0.0003]  <0.0003  <0.0003]  <0.0003]  <0.0003|  <0.0003] 12/ <0.0003  <0.0003|  <0.0003
<0.00005  <0.00005 <0.00005 <0.00005 <0.00005 <0.00005| 12/ <0.00005 <0.00005 <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 0. 001 <0. 001 <0. 001
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 €0.002| 12 <0. 002 <0. 002 <0. 002
<0. 004 <0. 004 <0. 004 0. 004 0. 005 0.007| 12 0. 007 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
0.78 1.05 1.16 1.07 1.15 1.15] 12 1.16 0. 64 0.94
0.08 0.10 0.10 0. 09 0. 09 0.08] 12 0.11 0.08 0. 09
0.1 <0. 1 0.1 <0. 1 0.1 0.1 12 <0.1 0.1 <0. 1
€0.0002  <0.0002  <0.0002| <0.0002|  <0.0002  <0.0002| 12 <0.0002  <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0.004f 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0.002| 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
0.1 0.1 0.1 <0.1 0.1 0.1 12 <0.1 <0.1 <0.1
0.18 0. 06 0. 05 0.07 0.12 0.07| 12 0. 26 0. 05 0.13
0.1 0.1 0.1 <0.1 0.1 0.1 12 <0.1 0.1 <0.1
7.7 13.0 12.6 13.5 13.8 13.1] 12 13.8 7.7 11.6

31 40 40 42 42 40| 12 42 31 38

75 97 94 92 102 95| 12 116 75 95

<0. 02 <0. 02 <0.02 <0.02 <0.02 <0.02| 12 <0.02 <0.02 <0.02

1 2 2 <1 <1 1| 12 4 <1 2

<1 3 2 2 1 2| 12 11 <1 2

<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005
<0.0005  <0.0005  <0.0005  <0.0005  <0.0005  <0.0005| 12|  <0.0005  <0.0005  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4 <0.0002  <0.0002  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4, <0.0004  <0.0004  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<1 <1 4 <1 <1 <1

3.7 2.7 4 4.0 2.7 3.5
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
10 16 4 22 10 16

-1.7 -1.4 4 -1.4 -1.7 -1.6
<0.01 <0.01 4 <0. 01 <0.01 <0. 01

7 7 4 7 5 6
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RERAEK (2D 3) EHHE

/] 5 7 10 2 [=1%5 1 =459 F-t5)
HH
1,3—y a2 (D—D) (mg/L) <0.0005|  <0.0005  <0.0005  <0.0005 4, <0.0005  <0.0005  <0.0005
22 —DPA (X F7K ) g/l <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
E P N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
M C P A (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
T ¥ o = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * 7 - — F (mg/L) <0.0008|  <0.0008|  <0.0008  <0.0008 4, <0.0008  <0.0008  <0.0008
VA ) = % > (mg/L) <0.0001  <0.0001  <0.0001|  <0.0001 4/ <0.0001  <0.0001|  <0.0001
7 = =4 N 2 (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
7 3 k = A (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
7 = 7 =i — L (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
A4 YV % B F A 2 (mg/L)| <0.00005 <0.00005 <0.00005 ~<0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ & A (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4 <0.00003  <0.00003  <0.00003
A Fuah7 (MIPC) (mg/L) <0.0001|  <0.0001| <0.0001|  <0.0001 4/ <0.0001  <0.0001|  <0.0001
AV 7aF 47 (1IPT) (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0.003 <0.003
A 77 = H N Y (mg/l)
A4 7 X2k A (IBP) (mg/L) <0.0009|  <0.0009|  <0.0009  <0.0009 4 <0.0009  <0.0009  <0.0009
A4 X 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4 <0.00006 <0.00006  <0.00006
A4 v X 7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009  <0.00009 4 <0.00009 <0.00009  <0.00009
— X 7 v H v 7 (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
— 7 = v 7 ua vy 7 A (ng/L) <0.0008  <0.0008|  <0.0008  <0.0008 4, <0.0008  <0.0008  <0.0008
TURZNNT 7 (R ) (mg/L) <0.0001  <0.0001| <0.0001  <0.0001 4/ <0.0001  <0.0001|  <0.0001
F % ¥ ¥ v Xk v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
I X 2 v 8 (A B 4 ) (mg/L)| <0.0004  <0.0004| <0.0004  <0.0004 4 <0.0004| <0.0004  <0.0004
F U ¥ X + r B ¥ (mg/l)
Vil z A N A (mg/L) | <0.000006/ <0.000006| <0.000006 <0.000006 4| <0.000006 <0.000006 <0.000006
B 7 = v A b v — JbL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008 <0.00008 <0.00008
Vi JL o % -~ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
o0 N U g (N A C ) (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4 <0.0003|  <0.0003  <0.0003
i) JL N 7 = > (mg/L) | <0.000003| <0.000003| <0.000003 <0.000003 4| <0.000003 <0.000003 <0.000003
* /27 73y (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
X ¥ 7 v > (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
4 2 Jv s > (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4, <0.0003  <0.0003  <0.0003
7 ] N A — F (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o K ¥ X — b (mg/L) <0.0002|  <0.0002|  <0.0002  <0.0002 4, <0.0002|  <0.0002  <0.0002
7 v A 7 v v 7 (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
salr=ra7=> (CNP) (mg/L) €0.0001  <0.0001  <0.0001|  <0.0001 4, <0.0001  <0.0001  <0.0001
7 m JL B U 7 A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
saoua o=, (TPN) (m/L) <0.0005  <0.0005|  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 T A ¥ > (mg/L) | <0.00001 <0.00001 <0.00001 <0.00001 4 <0.00001 <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4 <0.00003  <0.00003  <0.00003
> v nwaey (DCMU ) (mg/L) <0.0002|  <0.0002|  <0.0002  <0.0002 4, <0.0002| <0.0002/  <0.0002
> u~X=,L (DBN) (mg/L) <0.0003  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003|  <0.0003
)R A(DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008 <0.00008 <0.00008
DX 7 U 4 b (mg/L) <0.0001  <0.0001  <0.0001|  <0.0001 4, <0.0001  <0.0001|  <0.0001
2RI (= F )V FF AR ) (mg/L) | <€0.00004 <0.00004| <0.00004 <0.00004 4 <0.00004 <0.00004 <0.00004
CF A DN A — R E K (ng/L)
D 5P 7 = JL (mg/L) | <0.00009 <0.00009 <0.00009 <0.00009 4 <0.00009 <0.00009 <0.00009
oo\ ok oy 7 F L (mg/L) | <0.00006 <0.00006| <0.00006 ~ <0.00006 4 <0.00006 <0.00006  <0.00006
v < v v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003 <0.00003 <0.00003
Y A X Xk U v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
% A k - — k (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 A K U v (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4, <0.0003|  <0.0003  <0.0003
vl A T D% J > (mg/L) | <0.00003 <0.00003| <0.00003 <0.00003 4 <0.00003 <0.00003 <0.00003
v A N s v (mg/L) <0. 008 <0. 008 <0. 008 <0.008 4 <0.008 <0. 008 <0.008
K AR, )U;"A(ﬁw/*l\\)&t)“ (ng/L)
AFNVAI)FF T R —h
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SRR (ZDA) I

s 5 7 10 2 1% A I R3]
IHH
¥ 7 D2 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
3 74 < 2 (mg/L) <0.0002|  <0.0002  <0.0002|  <0.0002 4| <0.0002)  <0.0002|  <0.0002
F ¥ B o 7 (ng/L) <0.0008  <0.0008  <0.0008  <0.0008 4/ <0.0008  <0.0008|  <0.0008
F A 7 7 X —FAF N (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F 4 X v H v T (mg/L) <0.0002  <0.0002  <0.0002|  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
7 7 U g K~ U F v (mg/l)
TN T HNVT (MBPMC) (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
S ] Vi o = JL (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003|  <0.0003
) Zua ks (DEP) (ng/l) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
U v T Y — L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
U 7 o F U v (ng/L) <0.0006  <0.0006  <0.0006  <0.0006 4/ <0.0006  <0.0006|  <0.0006
B - =i /N = K (mg/L) <0.0003,  <0.0003|  <0.0003  <0.0003 4, <0.0003  <0.0003  <0.0003
s 5 = — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= N =4 N A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
| /4 | = JL (mg/L) 0.0003|  <0.0001  <0.0001  <0.0001 4 0.0003|  <0.0001  <0.0001
E I YV X ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004 <0.00004| <0.00004
o7 x—k (7Y L —bF) (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
U X 7 = v F F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F Hh N 7 (ng/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
= = X = v (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005 ~ <0.0005  <0.0005
7 4 7 m = Jb (mg/L) ]| <0.000005 <0.000005 <0.000005 <0.000005 4| <0.000005  <0.000005| <0. 000005
Jx=taF A+ (MEP) (mg/L) <0.0001|  <0.0001|  <0.0001  <0.0001 4/ <0.0001| <0.0001  <0.0001
7 x/) 7 N7 (BPMC) (ng/L) <0.0003  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003|  <0.0003
= - U VN Y > (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005 ~ <0.0005  <0.0005
7 xrF A (MPP) (mg/L)| <0.00006 <0.00006 <0.00006| <0.00006 4| <0.00006 <0.00006| <0.00006
7 x> bhx —F (PAP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007 <0.00007| <0.00007
7 = ¥ b 7 ¥ I F (g/l) <0.0001  <0.0001| <0.0001  <0.0001 4/ <0.0001|  <0.0001  <0.0001
- VA = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
-7 2 7 n — L (mg/L) <0.0003  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003|  <0.0003
7 v S 7R 2 (mg/L) <0.0002|  <0.0002  <0.0002|  <0.0002 4| <0.0002)  <0.0002| <0.0002
7 7 v 7 = ¥ v (ng/L) <0.0002  <0.0002  <0.0002|  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
-7 v 7 ¥ F A (mg/l) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003|  <0.0003
7 v F 7 7 v — )L (mg/L) <0.0005 ~ <0.0005 ~ <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
A o ¥ 3 N > (mg/L) <0.0009  <0.0009  <0.0009  <0.0009 4| <0.0009  <0.0009|  <0.0009
- 4 VA 7 AN A (mg/L) | <0.00007 <0.00007 <0.00007 <0.00007 4 <0.00007 <0.00007 <0.00007
7 v v a2 F v — J (ng/L) <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005 ~ <0.0005  <0.0005
va = v W N K (mg/L) <0.0005 ~ <0.0005  <0.0005  <0.0005 4/ <0.0005 ~ <0.0005  <0.0005
7 v X F v — L (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003|  <0.0003
7 v ' 7  F K (ng/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J 3 JL (mg/L) <0.0002|  <0.0002  <0.0002|  <0.0002 4| <0.0002)  <0.0002| <0.0002
~N T o v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N v Vv ¥ 7 v v (ng/l) <0.0009  <0.0009  <0.0009  <0.0009 4| <0.0009  <0.0009|  <0.0009
~N v Y 7 = F v 7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ N i > > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A& U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
N v 7 7 Hh o 7 (g/l) <0.0002|  <0.0002  <0.0002|  <0.0002 4| <0.0002)  <0.0002|  <0.0002
R (R222) (ng/L) <0.0001  <0.0001| <0.0001  <0.0001 4/ <0.0001|  <0.0001  <0.0001
~N v 7 v ¥ — b (mg/L) <0.0007|  <0.0007  <0.0007  <0.0007 4| <0.0007  <0.0007|  <0.0007
KA A F 7T ¥ — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~7F F v (~F YV >) (mg/L) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa7may 7 (MCPP) (mg/l) <0.0005  <0.0005  <0.0005  <0.0005 4/ <0.0005 ~ <0.0005  <0.0005
A v S JL (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003|  <0.0003
A X 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AFHXF 2 (DMTP) (mg/L)| <0.00004 <0.00004| <0.00004 <0.00004 4| <0.00004 <0.00004| <0.00004
X M J A2 b1 B ¥ (ng/l) <0.0004  <0.0004  <0.0004|  <0.0004 4/ <0.0004  <0.0004|  <0.0004
A k J - ¥ > (mg/L) <0.0003|  <0.0003  <0.0003  <0.0003 4| <0.0003  <0.0003|  <0.0003
A 7 = F v b (mg/l) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002)  <0.0002|  <0.0002
A A o = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
£ D) 3 — I (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
)3 $E ¥ (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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SR UL

F AR (2D 1)
H
i 4 5 6 7 8 9
— i3 H (CFU/m1) 3 2 9 90 360 60
K )
&k O F o b A& ¥ (mg/L)
% &k O o b & ¥ (mg/L) <0.03 0. 03
w [T AR OlEY (ng/l) 0.013 0. 035
B ok B 4 A v (mg/L)
b 5a) 1.4 1.4 1.6 1.6 1.6 1.4
A 1 2 (ToC)  (mg/L) Hxff 1.1 1.2 1.1 1.1 1.1 1.1
Es S 1.3 1.3 1.3 1.3 1.3 1.3
B 7.16 7.14 7.07 7.08 7.08 7.17
pH fiE A 6.93 6. 90 6. 85 6.78 6. 92 6. 92
I D8] 7.03 7. 00 6. 97 6. 93 7.00 7. 00
IS
5 = TAR | HUR | FTKE | TAKR | FAR | TAKER
B 1.6 1.5 2.7 2.3 2.4 2.1
Ul () KK 0.7 0.8 0.7 0.9 0.8 1.0
S 1.2 1.1 1.3 1.5 1.2 1.3
i 0. 27 0. 52 0.41 0. 46 0. 69 0.45
¥ B (E) K 0.12 0.12 0.10 0.13 0.14 0.12
A 0.20 0. 20 0.22 0.28 0. 36 0. 22
mame |E BE R W M F (mg/L)
e |5k ® b # (mg/L)
BREEH | H W% (Ko, ¥ & &) (mg/L) 2.4 2.1 2.0 3.0 2.5 2.5
= 21.3 24. 7 28.7 30.0 32.2 29. 4
7K HO(C) K 14.7 19.5 23.5 27.7 28.6 25.3
A 18.7 21.6 25.3 28. 6 30. 3 27.8
b a) 33.4 30.5 31.0 28. 4 30. 6 30. 1
7 JV Vel ) E (mg/L) #IK 20.7 26. 4 23.7 24.0 25.9 24.0
A 31.2 28.6 28.6 26. 2 28. 2 26. 8
3 & (mg/L)
7 v E = 7 % # (ng/L)
fiF 73 e = #  (mg/L)
Tk i A 7 v (mg/L)
By ¥ o A fOE (ng/L)
~ 7 X v U A il E (mg/L)
i 17.5 16.6 16.6 16.9 16.7 15.8
— |#E = {5 i K (mS/m) | FIK 15.0 14.0 13.4 12.0 12.5 12.7
ke A 16.8 15.3 15. 3 13.9 14.8 14.0
Ho |5 17 i3 # (mg/L)
B i 9y B (mg/L)
i 0. 098 0.106 0.106 0.128 0.122 0. 100
% 04 o W ok E 2l 0.074 0.076 0.073 0. 079 0. 067 0. 080
A5 0. 085 0. 086 0. 092 0. 104 0. 098 0. 090
e H %o~ 7 v ¥ E (mg/l) 0. 049 0. 030
WA Y (10C ) (mg/L)
B @) D (mg/L)
C @) D (mg/L)
WO RO (OB ) (mg/L) 0. 009 0. 009 0. 007 0.015 0.010 0.012
x 7 (MPN/100m1) <1 <1 <1 12 1 2
MU Nma X & A4 Bk BE (mg/L)
7 U 7k AR Y Yy A (Ji/100)
o oA M F K (CFU/m1)
2ok W 4 A4 (mg/l) 0. 04 0.03 0.02 0.03 0.03 0.03

o0




10 11 12 1 2 3 e e A& Sy
48 2 10 0 9 51 12 360 0 50
<0. 03 <0. 03 4 <0. 03 <0. 03 0. 03
0. 022 0. 032 4 0. 035 0.013 0. 026
1.4 1.3 1.4 1.3 1.5 1.3
1.1 1.2 1.2 1.1 1.1 1.1 250 1.6 1.1 1.3
1.2 1.2 1.3 1.2 1.2 1.2
7.12 7.17 7.23 7.36 7.19 7.15
6. 89 6.97 6. 98 7.11 7.02 6.99| 250 7.36 6.78 7.05
7.04 7.08 7.14 7.19 7.12 7.07
TR | FAR | FAR | FAKE | FAKE O FAKE | 250 TR
1.5 1.8 2.2 1.5 1.4 1.7
0.9 0.8 1.1 1.0 1.1 1.2] 250 2.7 0.7 1.3
1.2 1.3 1.4 1.2 1.3 1.4
0.38 0.23 0.26 0.33 0. 44 0.41
0.17 0.11 0.12 0. 20 0.24 0.17| 250 0.69 0.10 0.24
0.23 0.16 0.17 0.25 0. 30 0.28
2.3 2.1 2.2 2.5 2.3 2.1 12 3.0 2.0 2.3
26. 2 20. 1 16. 7 11.2 10. 7 16. 4
20. 2 16. 7 9.6 8.8 8.5 10.9[ 250 32.2 8.5 20. 1
22.7 18.6 12.8 10. 1 9.9 14.4
31.9 32.6 34.6 34. 1 32.9 32.2
23.4 29.0 29.2 31.8 29. 4 28.6| 250 34.6 23. 4 29.7
28.7 31. 1 32.5 32.7 31.2 30. 6
17. 1 17.6 18.0 18.5 18.7 17.9
12.7 16. 4 15. 3 17.2 17. 1 15.0[ 250 18.7 12.0 16.0
15. 2 17. 1 17. 4 17.7 17.9 17.0
0. 091 0.103 0. 090 0. 087 0. 090 0. 093
0. 079 0.078 0. 082 0. 082 0. 083 0.087| 48 0.128 0. 067 0. 089
0. 084 0. 088 0. 086 0. 084 0. 086 0. 089
0. 030 0.015 4 0. 049 0.015 0. 031
0.011 0.010 0.011 0.010 0. 009 0.009| 12 0.015 0. 007 0.010
<1 <1 <1 <1 1 <] 12 12 <1 1
0.03 0. 02 0. 04 0.05 0.05 0.04| 12 0. 05 0. 02 0.03

ol




) SRR R
SERRILERM (1)
H
i 4 5 6 7 8 9
— ik H (CFU/m1) 1 20 29 160 710 630
K 1%
Kk O F o b A& ¥ (mg/L)
% & O = o b & ¥ (mg/L) <0.03 0. 03
w [T AR ZEOREY (/L) 0.015 0. 009
B ok B 4 A v (mg/L)
b 5a 1.5 1.3 1.6 1.6 1.7 1.5
A 1 2 (ToC)  (mg/L) Hxff 1.1 1.1 1.1 1.0 1.1 1.1
Es RA] 1.3 1.2 1.3 1.3 1.3 1.3
b a) 7.30 7.22 7.23 7.20 7.24 7.24
pH i A 7.05 7.01 6. 95 6.92 7.05 6. 99
I D8] 7.17 7.11 7.12 7.07 7. 14 7.11
IS
5 S AR PUR | TKRE | TAR | TAR | TAKR
b 5a 1.4 1.2 2.8 2.0 2.0 1.7
U e () KK 0.8 0.6 0.5 0.6 0.6 0.7
S 1.0 0.8 1.1 1.1 1.1 1.1
4 0. 68 0.53 0. 59 0. 50 0. 65 0.48
¥ B (E) & 0.18 0.15 0.13 0.14 0.16 0.13
A2 0.34 0.27 0.29 0.25 0.27 0.23
mame | BE sk B M F (mg/L)
B | TR ® by # (mg/L)
WEHE (5 M % (KMnO, V8 2 &) (mg/L) 2.8 2.3 2.1 3.0 2.7 2.5
54 21.0 24. 4 28.7 29.9 30.9 28.9
7K HO(C) K 14. 1 18.6 22.9 27.0 26. 7 24.6
A2 18.3 21.3 24.9 28. 2 29. 6 27.0
b 5a) 32. 4 30. 2 30. 1 28.2 30.0 29.8
7 JV Vel ) E (mg/L) #IK 28.9 24. 8 21.4 21.7 23.9 22.2
A 30. 7 28.0 27.7 25. 2 27.6 26.3
3 & (mg/L)
7 oy ' = 7 fE # F (mg/L)
fiF 73 e = #  (mg/L)
Tk i3 A 7 v (mg/L)
B ¥ o A fOE (ng/L)
~ 7 X v U A il E (mg/L)
b a) 17.6 16.6 16.7 16.9 16. 6 15. 6
— |#E = {5 i K (mS/m) | FIK 15. 2 13.4 13.0 11.8 12. 1 12.4
i 1 16.6 15.3 15.1 13.5 14. 6 13.8
Ho |5 17 i3 F# (mg/L)
B il 9y B (mg/L)
b 5a 0. 087 0. 086 0.093 0. 092 0.108 0. 095
% 4 o W ok E 2 liv 0. 070 0.071 0. 074 0.075 0. 067 0. 068
NS5 0. 080 0.076 0. 086 0. 083 0. 093 0. 082
2 G Mo 7 v E (ng/l) 0. 056 0. 045
WA Y (10C ) (mg/L)
B @) D (mg/L)
C @) D (mg/L)
% 6 O (| OE ) (mg/L) 0. 009 0. 008 0. 007 0.011 0.010 0.011
x i) (MPN/100m1) <1 <1 <1 <1 <1 <1
MU o Nxm X X A Rk BE (mg/L)
7 U 7k AR Y Yy A (JA/100)
o oA M F (CFU/m1)
2ok M 4 A4 (mg/L) 0.03 0.01 0.01 0.01 0.02 0. 02

o2




10 11 12 1 2 3 % e b Ii Sy
44 32 12 0 5 3l 12 710 0 140
<0. 03 <0. 03 4 <0. 03 <0. 03 0. 03
0. 008 0. 007 4 0.015 0. 007 0.010
1.3 1.4 1.3 1.3 1.3 1.3
1.1 1.1 1.1 1.0 1.0 1.1 252 1.7 1.0 1.2
1.2 1.2 1.2 1.2 1.1 1.2
7.23 7.30 7.30 7.33 7.30 7.32
6. 94 7.12 7.12 7.15 7.07 7.14| 252 7.33 6. 92 7.17
7. 14 7.22 7.23 7.26 7.22 7.20
TR | FAR | FAKRE | O FAKE O FAKE | O FAKE [ 252 TR
1.4 1.5 1.9 1.2 1.2 1.5
0.6 0.6 0.6 0.5 0.7 0.9 252 2.8 0.5 1.0
0.9 0.9 1.4 0.9 1.0 1.2
0.49 0.25 0.42 0.26 0. 50 0. 46
0.13 0.07 0.14 0.15 0.17 0.14| 252 0.68 0.07 0.25
0.24 0.13 0.24 0.21 0.25 0.23
2.4 2.2 2.6 2.6 1.9 2.3 12 3.0 1.9 2.4
25.6 19.0 16. 4 10. 7 10. 2 16.0
18.9 16. 2 8.7 7.9 8.0 10. 3| 252 30.9 7.9 19.5
21.7 17.6 12.0 9.5 9.4 14.0
30.9 32. 1 34.7 32.9 32.4 31.5
22. 4 29.5 27.2 31.0 27.2 27.5| 252 34.7 21. 4 29. 1
28.3 30.6 31.9 31.9 30. 8 30.0
17.2 17.6 18. 3 18.8 18.7 17.9
12.2 16. 4 14. 7 16.9 17.0 14.9[ 252 18.8 11.8 15.9
15. 1 17.0 17. 3 17.6 17.9 16.9
0. 082 0. 105 0. 098 0.084 0. 090 0. 087
0.071 0.076 0.077 0. 064 0.071 0.081| 48 0.108 0. 064 0. 082
0.077 0. 086 0. 088 0.075 0. 079 0. 084
0. 042 0. 009 4 0. 056 0. 009 0.038
0. 009 0. 009 0.011 0. 009 0. 008 0.008| 12 0.011 0. 007 0. 009
<1 <1 <1 1 <1 <] 12 1 <1 <1
0.01 0. 02 0.05 0.05 0. 06 0.04| 12 0. 06 0.01 0.03

o3




5) A ALERK
A PR (FD 1)

K /] 4 5 6 7 8 9
— i M (CFU/m1) 0 0 0 0 0 0
X i)
h Kk OV & O b & ¥ (mg/L)
% K O & o kb & ¥ (mg/L) <0.03 <0. 03
O [T AR EOEY (mg/l) 0.011 0.016
w ik ®m A4 A v (mg/L)
= 1.3 1.4 1.6 1.5 1.4 1.5
L |F 1 W (TOC)  (mg/L) ik 1.0 1.1 1.1 1.0 1.1 1.0
% St 1.2 1.2 1.3 1.2 1.3 1.2
= 7.23 7.12 7.20 7.14 7.14 7.20
pH (X b4 159 7.02 7.00 6.91 6. 89 6.94 6.98
8 D8] 7.13 7.07 7.06 7.03 7.06 7.07
IS
B £ AR AR G UR AR YR Y R
= <0.5 <0.5 0.7 0.6 0.7 <0.5
Ho e () KIK <0.5 0.5 0.5 0.5 0.5 0.5
ety 0.5 0.5 0.5 0.5 <0.5 0.5
5 E 0.38 0.45 0. 40 0. 39 0. 56 0.32
% B KK 0.22 0. 09 0.16 0.13 0.16 0.11
S 0.29 0.23 0. 24 0.23 0.28 0.22
s E OBE Ok B O F (mg/l)
mae % & i % (ng/L)
wr A% (Ko, 5 % &) (ng/L) 2.0 2.0 1.9 1.8 2.0 1.8
= 20. 8 24. 4 28.3 29. 8 30.9 28.9
7K B O(C) KK 14. 1 18.7 23.0 26.9 27.3 24.8
S| 18.2 21.4 24.8 28.2 29.6 27.1
= 32.9 30. 4 30. 8 28.0 29.6 29. 7
Vi v i) ) B (mg/L) A% 29.2 25.2 21.4 22.2 24.9 22.2
ety 30. 8 28. 1 27.8 25. 4 27.5 26. 2
3 E  (mg/L)
7 v ®E = 7 fE #E # (ng/L)
fiF i3 i3 = % (mg/L)
fift fige A v > (mg/L)
BV v o A fFE O (mg/L)
~ 7 x ¥ U A i OE (mg/L)
= 17.6 16.6 16.7 17.0 16.6 15.6
— |¥E ) & i R (mS/m) | FIK 15. 1 13.5 13.1 11.8 12.5 12.3
e S| 16.7 15.3 15.2 13.7 14.7 13.8
| 1% I3 F#  (mg/L)
Bl it 1y B (ng/L)
BE 0. 037 0. 039 0.034 0.038 0. 037 0.036
%04 B oW e E Qi 0.027 0. 029 0. 028 0. 029 0. 022 0. 032
ety 0. 033 0. 032 0. 031 0.033 0. 032 0.034
e % o~ u 7 v E (ng/l) 0. 035 0. 022
T i A % (10 ) (mg/L)
B @) D (mg/L)
C @) D (mg/L)
WO B OBE (¥ OB ) (mg/L) 0.001 0. 001 0.001 0. 001 0. 001 0. 001
AN i} (MPN/100m1) <1 <1 <1 <1 <1 el
U ~m X & gk RE (mg/L)
7 U 7 h AR Y YU A (fE/10L)
o M FE (CFU/m1)
2 b W 4 A v (mg/L) 0.03 0.02 0.01 0.02 0.02 0.02
g@r:ai E3 2 (mg/L) 0.003 0. 002 0. 002 0. 003 0. 005 0. 005
A v A 7 4 F B K (ng/L) 0. 009 0.009  <0.008 0. 008 0.014 0.014

o4




10 11 12 1 2 3 EIbx Q. 3= K S
0 0 0 0 1 ol 12 1 0 0
<0. 03 0. 03 4 0. 03 <0. 03 0. 03
0.011 0.018 4 0.018 0.011 0.014
1.3 1.3 1.3 1.3 1.2 1.3
1.1 1.1 1.1 1.1 1.0 11| 252 1.6 1.0 1.2
1.2 1.2 1.2 1.2 1.1 1.2
7.22 7.27 7.30 7.34 7.28 7.24
6.91 7.14 7.12 7.13 7.07 7.01| 252 7.34 6. 89 7.13
7.12 7.20 7.22 7.25 7.20 7.17
TR AR AR AR Y R Y R 252 TR
1.6 0.6 0.6 0.5 0.5 0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5| 252 1.6 <0.5 <0.5
0.5 0.5 0.5 0.5 0.5 0.5
0. 34 0.35 0. 30 0. 34 0.49 0.32
0.07 0. 09 0.14 0.16 0.16 0.14| 252 0. 56 0. 07 0.23
0.23 0.16 0. 20 0.23 0.27 0.22
1.9 1.6 1.5 2.0 1.8 1.8 12 2.0 1.5 1.8
25.7 19. 1 16. 4 10. 7 10. 3 16.0
19. 1 16. 4 9.0 8.1 8.0 10. 4| 252 30.9 8.0 19.5
21.9 17.7 12.2 9.6 9.4 13.9
31.0 32. 1 34.0 33. 1 32. 4 31. 4
22.8 28.2 28.0 31. 1 28. 4 28.0| 252 34.0 21.4 29.2
28.3 30. 6 32.0 32. 1 30.9 30. 2
17. 1 17.7 18. 1 18.7 18.7 18.0
12.4 16.5 15. 1 17.0 17. 1 15.0| 252 18.7 11.8 16.0
15.2 17.0 17.4 17.7 17.9 17.0
0.038 0. 042 0. 037 0. 038 0. 036 0. 034
0. 028 0.033 0. 031 0. 032 0. 031 0.031| 48 0. 042 0. 022 0.033
0.035 0. 037 0.034 0. 034 0.033 0.033
0. 026 0. 008 4 0. 035 0. 008 0. 023
0. 001 0. 001 0. 002 0. 002 0. 001 0.001| 12 0. 002 0. 001 0. 001
<1 <1 <1 <1 <1 | 12 <1 <1 <1
0. 02 0.03 0.04 0. 05 0. 06 0.04 12 0. 06 0.01 0.03
0.001 0. 002 0. 003 0. 002 0. 002 0.002| 12 0. 005 0.001 0. 003
0.010 0.012 0.012 0.011 0.011 0.011 12 0.014  <0.008 0.010

o5




6) JEHMEp LB K
JEMERALERK (D 1) .
e 4 5 6 7 8 9
— W% i (CFU/ml) 0 0 0 18 66 79
X i)
0 K O = o b & ¥ (mg/L)
g% K O £ © k& % (mg/L) <0.03 <0. 03
v o B0z EY (gl <0. 001 0. 002
w ik ®m A4 A v (ng/L)
b a) 0.9 0.9 1.0 0.9 0.9 1.1
e Ze) 1 ¥ (Toc)  (mg/L) AefX 0.7 0.7 0.7 0.6 0.7 0.7
RIS 0.8 0.8 0.8 0.8 0.8 0.8
= 7.10 7.00 7.03 6. 87 6. 94 7.16
pH fi& A 6. 95 6. 88 6. 77 6.71 6. 74 6.78
5 S| 7.02 6. 94 6. 89 6. 78 6. 82 6. 88
- S
B = Pl piL Pl il Pl il !
b a) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
H |& (B R 0.5 0.5 0.5 0.5 <0.5 0.5
RIS <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
= 0.04 0. 04 0.05 0. 06 0. 06 0. 04
) B K 0. 02 0.02 0.01 0. 01 0.01 0.01
8y 0.03 0. 03 0.03 0. 03 0.03 0. 02
Huwme E 0 B % B F (ng/L)
R 7 = i % (mg/L)
ggﬁ H W% (KMo, M & &)  (mg/L) 1.2 0.8 0.7 1.1 0.9 0.9
= 21.0 24.5 28.8 30. 7 31.3 29.3
7K HO(C) KK 14. 4 19. 1 23.3 27.8 27.9 25. 1
S| 18.5 21.6 25. 2 28. 8 30. 0 27.5
b a) 32.2 30. 6 30. 2 28. 4 29.2 29.6
7 v i) ) B (mg/L) A% 29.0 25. 1 22.9 23.2 25. 2 23.6
S 30. 6 28. 1 27.7 25.3 27.3 26. 1
3 E (mg/L)
b a) 0.02 0.03 0.02 <0.01 0.01 0.02
7T v o' = 7 # F (eg/L) &K <0.01 <0.01 <0.01 <0. 01 <0.01 0. 01
NS5 0. 01 <0. 01 0. 01 0. 01 0. 01 0. 01
fiF iz i3 = % (mg/L)
ik i3 A n v (mg/L)
v v v A i (mg/L)
~ 7 3 ¥ U A W OFE (mg/L)
4= 17.6 16.6 16.7 17. 1 16.6 15.6
— |¥E B 5 e K (mS/m) | FlK 15. 1 13.5 13.2 12. 1 12.5 12.8
ke 8y 16.7 15. 4 15.3 13.8 14.7 13.9
g B 10. 7 8.6 7.5 6.0 6.2 7.2
H | 17 73 # (mg/L) HIK 7.9 7.0 5.8 5.0 4.6 5.6
NAD] 9.0 8.0 6.9 5.5 5.5 6.3
= il ¥ 'H  (mg/L)
b a) 0. 027 0. 026 0.029 0.032 0. 030 0. 031
%00 oW I 0. 022 0.024  0.024 0. 025 0. 023 0. 024
NA5) 0. 025 0. 025 0. 026 0. 027 0. 027 0. 028
e H il ~na 75 v E (mg/L) 0.015 0. 007
= g B 4 (10C ) (mg/L)
B @) D (mg/L)
C @) D (mg/L)
%O s O (B’ OE ) (mg/L) 0.001 0.001 0.001 0.001 0.001 0.001
N W (MPN/100m1) <1 <1 <1 <1 <1 <1
U ~m X & gk RE (mg/L)
7 UV 7 b AR Y YU A (fEH/100)
2 S < ) (CFU/m1)
B b ¥ 4 A v (mg/L) 0. 04 0.03 0.02 0.03 0.04 0.03
e S it (mg/L) 0.002  0.001  0.001  0.002  0.003  0.003
ks v A 7 v F B K (mg/L) <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
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7) Ak
AR (D 1)

o 4 5 6 7 8 9
— [ HH (CFU/m1) 0 0 0 0 0 0
PN i ] - - - - - -
ok X %2 o b & W (mg/L)
o kK 8 2 o b & % (mg/L) <0. 03 0. 03
<~ AU REOZFoEW (me/l) <0. 001 <0. 001
B b ) A 7+ > (mg/L)
e 0.9 0.9 0.9 0.9 0.8 0.9
e | 1 7 (T0C)  (mg/L)  fief 0.7 0.7 0.7 0.6 0.6 0.7
Iifj 0.8 0.8 0.8 0.7 0.7 0.8
=i 7.13 6.99 7.00 6. 86 6. 87 6.95
pH i BSE58 6.95 6. 88 6. 80 6.73 6. 74 6.78
I " LY 7.01 6.94 6. 88 6. 80 6. 80 6.85
= K R | EFER O WEHRE | EER | EFER | EFRR
e 0.5 0.5 0.5 0.5 0.5 0.5
=) () KK 0.5 0.5 0.5 0.5 0.5 0.5
H Iifj <0.5 <0.5 <0.5 <0.5 0.5 <0.5
=i 0. 04 0.05 0.03 0.05 0. 04 0. 04
) B KK 0.01 <0.01 0. 01 0. 01 0. 01 0. 01
LY 0. 02 0.02 0. 02 0.02 0.03 0.01
e 0. 48 0. 54 0. 50 0.53 0.52 0.58
MUEA |WE OBE & B L F (ng/l) K 0.35 0.36 0.31 0.40 0.25 0. 46
Iifj 0.41 0. 45 0.41 0. 45 0. 38 0.51
A B 0. 52 0.58 0. 54 0. 55 0. 56 0.61
amiﬁ = i} # (mg/l) | HIK 0.39 0. 40 0.34 0.43 0.29 0. 48
ng‘a Tty 0.47 0. 50 0. 44 0.48 0. 43 0. 54
P W% (Ko, W % &) (me/L) 1.1 0.8 0.7 0.9 0.8 0.8
wiE 20.9 24.3 28.8 30. 4 31. 1 29.3
PN w(C) I 14.2 19.0 23.3 27.6 28.0 25.0
Ii’J 18.3 21.4 25.0 28.5 29.9 27.3
e 32.8 20.7 30. 8 28.2 29.6 29.2
7 JL Vi U E  (mg/L) &I 29.2 25. 4 23.2 23.7 24.7 24.0
S 30. 8 28.2 28.0 25.5 27.5 26.3
173 E (mg/L)
7 v E = 7 W #® # (ng/L)
Al i3 i3 = % (mg/L)
it i3 A Z+ > (mg/L)
v ¥ v A @ (mg/L)
~ 7 F ¥ v A E (ng/L)
1= 17.8 16.8 16.9 17.2 16.8 15.7
— |E & 5 i R (mS/m) K 15.2 13.7 13. 4 12.2 12.6 12.8
iie S 16.9 15.5 15.4 14.0 14.9 14.0
H (s 17 fiz % (mg/L)
H | i ) 4 (mg/L)
wE 0. 027 0. 026 0. 027 0. 028 0.030 0.025
)% B Sk JE K 0.018 0.019 0. 020 0.021 0. 020 0.023
LY 0. 024 0.023 0. 024 0. 024 0. 027 0. 024
L A B v g (ng/l) 0.034 0. 036 0.041 0.036 0.035 0. 030
w1 e 4 (10 ) (mg/L)
B O D (mg/L)
C (@) D (mg/L)
# % m O E (B E ) (ng/l) 0.001 0.001 0.001 0.001 0.001 0.001
N i (MPN/100m1)
F U oo~ A Z v AR RE (ng/l)
7 V7 R AR U Y A {E/10L)
L - - . (CFU/m1)
B kb B A4 F v (mg/L) <0.01 <0.01 <0.01 <0.01 0. 01 0. 01
T e A A v R OHEY T~ (mg/L) <0.001] <0.001] <0.001 <0.001] <0.001] <0.001
# # 2 (mg/L) 0. 06 0. 06 0. 06 0. 06 0. 06 0. 06
Vi o = {3 % (mg/L) <0.002] <€0.002] <0.002 <0.002] <0.002/ <0.002
7 m v & A A (mg/L) <0. 001 0. 003 0.003 0. 004 0. 005 0. 004
x|l 7 o v B (mg/L) <0.003| <0.003] <0.003 <0.003] <0.003 <0.003
o7 e E s e o A% v (ng/l) 0.001 0. 002 0. 002 0. 002 0.003 0. 003
H R * 2 (mg/L) 0. 002 0.001 0.001 0. 002 0.003 0.003
H [ ~ v ~ &8 2 % o (ng/L) 0. 002 0. 008 0.008 0. 009 0.012 0.011
F U 7 v v FE O (ng/L) <0.003| <€0.003] <0.003 <0.003] <0.003 <0.003
7T r E Y 7 v A X v (ng/l) 0.001 0.003 0.003 0. 003 0. 004 0. 004
7 v ® & A A (mg/L) <0.001| <€0.001] <0.001 <0.001 <0.001| <0.001
x v A T A F b K (mg/L) <0.008 <0.008/ <0.008 <0.008 <0.008  <0.008
s m | e ES 7 (mg/L) <0. 06 <0. 06
Semn Y Z BB 7 =k YU (mg/L) 0. 001 <0. 001
L.k 7 v 5 —  (mg/L) <0. 002 <0. 002

o8




10 11 12 1 2 3 [EIEx S G A NS
0 0 0 0 0 o] 12 0 0 0
- - - - - - 12 - - -
<0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03
<0. 001 <0.001 4, <0.001] <0.001] <0.001
1.0 0.8 1.0 0.8 0.7 0.7
0.7 0.7 0.7 0.6 0.5 0.4| 252 1.0 0.4 0.7
0.8 0.7 0.8 0.7 0.6 0.5
7.05 7.09 7.22 7.26 7.21 7.12
6. 84 6. 87 6.97 7.05 7.01 6.98[ 252 7.26 6.73 6.97
6. 94 6. 99 7.08 7.15 7.12 7.05
BFER | HFER  HER | BER | EFERE | HEFER | 252 )
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5| 252 0.5 0.5 <0.5
<0.5 0.5 0.5 0.5 0.5 0.5
0.03 0.03 0. 02 0.01 0. 02 0.03
0. 01 0. 01 0. 01 0. 01 <0.01 <0.01| 252 0. 05 0. 01 0.01
0.01 <0. 01 <0.01 <0. 01 <0.01 <0. 01
0.57 0. 62 0.63 0. 60 0. 60 0. 65
0. 39 0. 40 0.42 0.39 0.36 0.40 252 0.65 0.25 0. 47
0. 49 0. 50 0. 52 0.52 0. 48 0. 50
0. 59 0. 66 0. 65 0.65 0. 63 0. 68
0.43 0. 46 0. 44 0. 45 0. 42 0.48[ 252 0. 68 0.29 0.51
0. 52 0.54 0. 56 0.55 0.53 0.54
0.9 0.6 0.9 0.8 0.7 0.5] 12 1.1 0.5 0.8
25.9 19.2 16.5 10.8 10. 3 16.2
19.1 16.6 9.3 8.3 8.1 10.5| 252 31.1 8.1 19.7
22.0 17.9 12.4 9.7 9.6 14. 1
30.5 31.5 33.7 34.5 32.1 31.4
23. 7 29.0 28. 2 31.2 29. 3 26.7| 252 34.5 23.2 29. 2
28. 1 30.5 31.8 32.2 31.0 30.0
17.2 17.7 18.3 18.9 18.8 18.2
12.7 16.7 15.5 17.2 17.2 15.2| 252 18.9 12.2 16.2
15.3 17.2 17.6 17.8 18. 1 17.2
0. 029 0. 025 0.034 0. 026 0. 021 0. 020
0. 025 0. 021 0.023 0.019 0.016 0.016[ 48 0. 034 0.016 0. 023
0. 026 0. 024 0. 027 0. 022 0.018 0.017
0. 022 0. 027 0. 020 0.013 0.012 0.011] 12 0. 041 0.011 0. 026
0.001  <0.001 0. 001 0.001] <0.001 <0.001|] 12 0.001  <0.001| <0.001
<0.01 <0. 01 <0.01 <0. 01 <0.01 <0.01] 12 <0.01 <0. 01 <0.01
<0.001] <0.001] <0.001] <0.001] <0.001] <0.001] 12] <0.001 0.001] <0.001
<0. 06 0. 06 <0. 06 0. 06 <0. 06 <0.06| 12 <0. 06 <0. 06 <0. 06
<0.002] <0.002] <0.002] <0.002| <0.002] <0.002| 12 <0.002 <0.002  <0.002
0. 003 0. 003 0.001 <0.001 <0.001 <0.001| 12 0.005  <0.001 0. 002
<0.003]  <0.003 <0.003] <0.003 <0.003 <0.003] 12/ <0.003 <0.003] <0.003
0. 002 0. 003 0. 002 0. 001 0.001 <0.001] 12 0.003  <0.001 0. 002
<0. 001 0. 001 0. 002 0. 002 0.002 <0.001| 12 0.003  <0.001 0. 002
0. 007 0.010 0. 005 0. 002 0.002 <0.001| 12 0.012 <0.001 0. 006
<0.003] <0.003] <0.003] <0.003| <0.003 <0.003] 12 <0.003 <0.003  <0.003
0. 002 0. 003 0. 002 0. 001 0.001 <0.001] 12 0.004  <0.001 0. 002
<0. 001 0.001] <0.001 <0.001 <0.001 <0.001| 12 0.001  <0.001| <0.001
<0.008] <0.008 <0.008] <0.008] <0.008 <0.008] 12 <0.008 <0.008  <0.008
<0. 06 <0. 06 4 <0. 06 0.06 <0. 06
<0.001 <0.001 4] <0.001] <0.001] <0.001
<0. 002 <0. 002 4] <0.002] <0.002]  <0.002
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8) Ny T HIK
R 7HK (FD1)

A
A 4 5 6 7 8 9
= 0 0 0 0 0 0
— % Fm (CFU/ml) | B fEK; 0 0 0 0 0 0
S 0 0 0 0 0 0
e = = = = = =
X 5 545y = = = = = =
4] = = = = = =
el <0.0010  <0.0010 <0.001  <0.001| <0.001| <0.001
M Kk X F o b A& W (ng/L) & <0.001  <0.001] <0.001 <0.001  <0.001 <0.001
SEF| <0.001 <0.001  <0.001|  <0.001| <0.001  <0.001
Prs K <0.03 <0.03 <0. 03 <0.03 <0. 03 <0.03
% & O & 0 & ¥ (mg/l) &I& <0. 03 <0.03 <0.03 <0.03 <0.03 <0.03
S 0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
S| <0001 <0.001]  <0.001 <0.001 <0.001  <0.001
we |¥ VH R OZE A (mg/L) E{E| <0.001] <0.001 <0.001| <0.001  <0.001| <0.001
SESI| <0.0010  <0.001  <0.001  <0.001  <0.001| <0.001
e 16.6 14. 4 15.2 15. 1 14.0 12.6
w ok 4 A v (mg/L) KIK 13.0 9.7 10. 7 8.9 8.1 8.7
5 T 15. 3 12.8 13.0 11. 1 11.4 10. 2
- e 0.9 0.9 0.9 0.9 0.8 0.9
H % Y (TOC)  (mg/L) | Hf& 0.7 0.7 0.7 0.6 0.6 0.7
S 0.8 0.8 0.8 0.7 0.7 0.7
H e 7.54 7.57 7.57 7.56 7.54 7.54
pH B & 7.47 7.48 7.48 7.44 7.48 7.46
D35 7.51 7.52 7.52 7.52 7.52 7.50
IS B U BEal BERLU BERL Bl Bkl
R = HRE | HFERE | HFRE | HFR | HFER | HFER
e <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
@, () I 0.5 <0.5 <0.5 <0.5 <0.5 <0.5
SEH) 0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B 0. 02 0. 02 0.03 0.02 0. 04 0.02
V&) BE(E)  &IK <0.01 0. 01 0. 01 0. 01 0. 01 0. 01
J?i’J 0.01 <0.01 <0.01 0.01 0.01 <0.01
[T 0.81 0.83 0.83 0.83 0. 84 0.85
mama E B % B O F (ng/l) | HIE 0.73 0. 74 0. 74 0.76 0.74 0.76
Itfj 0.77 0.79 0.78 0.79 0.79 0. 80
GEH B 0. 86 0. 89 0.87 0. 89 0.91 0. 89
SASAN M i) F (mg/L) | FI& 0.79 0.81 0.81 0. 82 0. 81 0. 82
I;EE ¥y 0.83 0.85 0.84 0.85 0.86 0.86
S EMm %S (KMnO, 38 &) (mg/L) 0.9 0.6 0.6 0.8 0.9 0.8
[ 20. 6 24.2 28.3 29.6 31.0 29.0
7K wO(C) |HIK 14. 1 19.1 23.5 27.6 28.5 25.2
R34 18.0 21.2 24.9 28.3 29. 8 27.4
e 39. 4 36.9 38. 4 37.5 39.2 37.7
7 Ju il ) e (mg/L) A 33.8 31.4 33.0 32.3 34. 2 31.0
S 36. 8 35.0 35.7 34.7 36. 8 34.3
i3 E  (mg/L) 1.9 2.8 2.2 2.4 3.0 3.2
7 v E = 7 B ZE #F (mg/l)
i 3 fig = #  (mg/L) 0.93 0.88 0.59 0.94 0. 99 0.95
it [ A 7 > (mg/L) 19.5 17.7 15. 6 16.2 18.6 17.0
Bov P v A O (ng/L) 31 30 28 25 28 29
~ 7 % ¥ 7 A fE FE (ng/L) 9 9 8 7 8 7
e 19.0 17.7 18.6 19.0 18.3 17.3
— |&E = = S R (nS/m) | KK 15.9 15. 2 15.7 13.8 14. 2 14.5
e S 18.0 16.8 17.0 15.8 16. 6 15. 6
H R 17 i3 F#& (mg/L) 9.0 8.4 7.7 6.0 5.6 6.3
B [ bl L) E  (mg/L)
4] 0. 027 0.028 0.028 0. 027 0. 028 0.026
%48 B W e B 53 i 0.019 0. 024 0.019 0. 021 0. 020 0. 023
SEH) 0. 024 0. 026 0. 024 0. 025 0. 025 0. 024
2 H % o~ a 7 o g (mg/l) 0. 042 0. 042 0. 053 0. 050 0. 049 0. 042
R M (T10C ) (mg/L)
B O D (mg/L)
C O D (mg/L)
#O osOE (R OE ) (mg/l) <0.001] <0.001 <0.001 0. 001 0. 001 0. 001
K o (MPN/100m1)
F U o~|m A B R RE (ng/L)
7Y 7N AR Y Ty A (fH/100) 0 0
L (CFU/ml)
B b ¥ 4 F v (mg/L) <0.01 0.01 <0.01 <0.01 <0.01 <0.01

60




10 11 12 1 2 3 (% b K S
0 0 0 0 0 0
0 0 0 0 0 0 186 0 0 0
0 0 0 0 0 0
= = = = = = 186 - - -
<0.001] <0.001] <0.001] <0.001] <0.001] <0.001
<0.001| <0.001 <0.001 <0.001 <0.001  <0.001 48/ <0.001| <0.001| <0.001
<0.001 <0.001 <0.001 <0.001 <0.001  <0.001
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0.03 48 <0. 03 <0. 03 <0. 03
<0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
<0.001| <0.001 <0.001 <0.001| <0.001 <0.001
<0.001 <0.001 <0.001 <0.001 <0.001  <0.001 48/ <0.001| <0.001/ <0.001
<0.001| <0.001 <0.001 <0.001 <0.001  <0.001
14. 4 15. 7 16.9 17.8 19. 8 17. 4
9.1 13.1 12.4 13.8 14.6 13.2 252 19.8 8.1 13.5
11.7 14. 2 14. 8 15.5 16.9 15. 3
1.0 0.8 0.9 0.8 0.7 0.6
0.7 0.7 0.7 0.6 0.5 0.5 252 1.0 0.5 0.7
0.8 0.7 0.8 0.7 0.6 0.5
7.57 7.56 7.54 7.54 7.53 7.60
7.48 7.47 7.42 7.47 7.46 7.47 252 7.60 7.42 7.51
7.52 7.50 7.49 7.51 7.50 7.52
B U BEal BERLU BERL Bl Bkl 252 L2/
WHRE | HHRER | HHRR | HRER | HRER | HRER 252 HFEE
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 252 <0.5 <0.5 <0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0. 02 0. 02 0.03 0.03 0.03 0.03
<0.01 <0.01 <0. 01 <0. 01 <0. 01 <0. 01 252 0. 04 <0.01 <0.01
<0.01 <0.01 <0.01 <0.01 <0. 01 0.01
0.84 0.84 0. 86 0. 89 0.87 0.83
0.75 0.75 0.78 0. 74 0.70 0.74 252 0. 89 0.70 0.79
0. 80 0. 80 0.81 0.79 0.79 0.79
0.90 0.90 0.92 0. 94 0.90 0.89
0.81 0. 80 0. 84 0. 81 0.79 0. 80 252 0.94 0.79 0. 85
0. 86 0. 85 0. 87 0. 85 0. 84 0. 85
0.8 0.5 0.7 0.9 0.6 0.6 12 0.9 0.5 0.7
25.5 19. 2 16.5 10.6 10. 3 15.9
19. 2 16. 7 9.3 8.4 8.2 10. 4 252 31.0 8.2 19.6
22.1 18.0 12. 7 9.6 9.4 13.8
37.3 37.8 37.7 37.8 36.0 37.0
30. 6 34. 8 34. 8 32.2 34. 1 33.8 252 39. 4 30.6 35.6
34.6 36. 6 36. 6 36. 1 35.0 35.3
2.6 3.2 3.1 3.6 2.7 2.3 12 3.6 1.9 2.8
0. 88 1. 11 1. 15 1. 18 1.23 1.21 12 1.23 0.59 1.00
16.5 19.8 19.0 18.6 19.7 20. 2 12 20. 2 15.6 18.2
25 30 32 33 33 30 12 33 25 30
7 9 9 9 9 9 12 9 7 8
18.2 18.7 19.0 19.3 19.4 19.0
14. 0 18.1 17.2 17.8 18. 2 16.7 252 19.4 13.8 17. 4
16. 4 18. 4 18. 3 18.5 18.9 18. 2
8.3 8.7 10. 1 11.8 12.4 11.4 12 12.4 5.6 8.8
0.029]  0.028 0. 032 0. 027 0. 021 0. 026
0.024  0.024| 0.024  0.020  0.018 0.018 48 0. 032 0.018 0. 024
0.026  0.026  0.028 0. 023 0.020/  0.021
0. 038 0. 031 0. 027 0.020  0.018/ 0.014 12 0. 053 0.014]  0.036
0.001| <0.001 0. 001 0.001| <0.001| <0.001 12 0.001 <0.001| <0.001
0 0 4 0 0 0
<0.01 0. 02 0. 02 0. 02 0. 02 0. 02 12 0. 02 <0.01 <0.01
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AT HK (FD2)

A

H 4 5 6 7 8 9
BRI T AR REOAAW Mg/ <0.0003|  <0.0003|  <0.0003  <0.0003| <0.0003  <0.0003
KO Kk O F o b & W (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 ~<0.00005 ~<0.00005
v kT o kA W (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
vt #F K O o kA ¥ (ng/L) <0. 001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
Nty o=m oA b & W (ng/l) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
[l i i3 i3 = F# (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T kA A R OHEA Y T v (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
il e e = R K O Y R R E B (mg/L) 0.93 0. 88 0. 59 0.94 0.99 0.95
7 v #F R T O A A& W (ng/L) <0.08 <0.08 0. 09 0.09 0.10 0.08
v FE KO Z O LA W g/l <0.1 <0.1 <0.1 <0.1 €0. 1 <0.1
Iy i) it o # (mg/L) <0.0002|  <0.0002| <0.0002  <0.0002| <0.0002  <0.0002
L4 — ¥ A+ % H v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
1?7;1%2—_1,?_7;;;;; ﬁf 5’19 (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004

wl|¥y 7 m oowm A F v (mg/l) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
> b % 7 muw = F L ¥ (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Y 7 v v x F L o (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001

e N N4 > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001

% i = % (mg/L) 0. 06 0.08 0. 07 0. 07 0.07 0.08
7 = = {3 2 (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
4 = o A L 2 (mg/L) 0. 002 0. 004 0. 005 0. 008 0. 008 0. 007

bl V4 = = [£f3 g (mg/L) <0. 003 <0.003 <0.003 0. 004 0. 004 0. 003
Y 7 v ® s oo A & » (mg/l) 0. 004 0. 004 0. 004 0. 006 0. 008 0. 005
B F 2 (mg/L) 0. 002 0. 001 0. 002 0. 002 0. 003 0. 003

H woOr U N m XA v (mg/L) 0. 010 0.012 0.014 0. 022 0. 027 0. 020
k ] s v v O (ng/l) <0. 003 <0.003 <0.003 <0. 003 <0. 003 <0.003
7 v £ Y 7 v v A X v (g/l) 0. 003 0. 004 0. 005 0. 007 0. 009 0. 007
7 = = A I 2 (mg/L) 0. 001 <0. 001 <0. 001 0. 001 0. 002 0. 001
A v A 7 A F b K (mg/L) <0.008 <0. 008 <0.008 <0. 008 <0.008 <0. 008
o & ™ o kb A& B (mg/l) <0. 1 0.1 0.1 0.1 <0. 1 0.1
TNALVI=2U MKV ZOLEY (mg/l) 0.03 0. 02 0.03 0.04 0. 04 0. 04
WOk ™ F o kA W (mg/L) <0. 1 0.1 <0.1 <0.1 <0. 1 0.1
F F U T AR REOAEY (mg/L) 17.1 15. 7 14.0 13.9 17.5 14.3
AT T L TRy L% (EE) (ng/L) 40 39 36 32 36 36
& ¥ V53 R ¥ (mg/L) 103 98 111 93 106 94
bz 4 & v FRom E M Al (ng/L) <0. 02 <0. 02 0. 02 <0. 02 <0. 02 <0. 02
2 - %+ 2 N > (ng/L) <1 <1 <1 <1 <1 <1
2= A F A4 Y R R F — )b (ng/L) <1 <1 <1 <1 <1 <1
¥ 4 A v R wm E M Al (ng/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — L $H (mg/L) <0.0005  <0.0005/  <0.0005  <0.0005  <0.0005  <0.0005
7T UV FE VR REDOAAEYW (ng/L) <0. 002 <0. 002
77 v k™ FE o b A W (ng/L) <0. 0002 <0. 0002
= v Fy L kO E DA, E W g/l <0. 002 <0. 002
L,2- ¥ 27 w v = % v (mg/l) <0. 0004 <0. 0004
]\ JU - > (mg/L) <0. 04 <0. 04
THELEBEY Q- F L ~F ) (mg/l) <0. 008 <0.008

=i i E3 iz (mg/L) <0. 06 <0. 06

Bl 7 mme 7% F = F U 2 (ng/l) <0. 001 <0. 001

EE B ok 7 v 7 — b (mg/l) <0. 002 <0. 002

% )3 IR = <1 <1

o blia Bt I % (mg/L) 1.7 2.5 1.9 2.1 2.6 2.8

E(LLl- kY 7 moa o= Z v (mg/L) <0.03 <0. 03

H[*FL-t-7F L= —F /L MBE) (mg/L) <0. 002 <0. 002
B ! G 3 (TON) 1 1 1 1 1 1
7 v 7 U 7T B X -1.4 -1.3 -1.3 -1.3 -1.2 -1.2
[ J& * # il (CFU/m1) 0 0
L1 — ¥ 7 v v x F L > (mng/l) <0.01 <0.01
V7 )vEa s # o ALk g (PFOS) (ng/L) 5 8

KOV 7 vt at s 4 o F (PFOS)
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10 11 12 1 2 3 EE:4 541 AR 8
<0.0003  <0.0003|  <0.0003  <0.0003| <0.0003 ~ <0.0003] 12 <0.0003] <0.0003  <0.0003
<0.00005| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005| 12| <0.00005 <0.00005 <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0.002| 12 <0. 002 <0. 002 <0. 002
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0.004| 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
0. 88 1.11 1.15 1.18 1.23 .21 12 1.23 0. 59 1. 00
<0. 08 0.08 <0. 08 <0. 08 <0. 08 <0.08| 12 0. 10 <0. 08 <0. 08
<0.1 <0.1 <0.1 0.1 <0.1 0.1 12 0.1 <0.1 <0.1
<0.0002  <0.0002|  <0.0002  <0.0002| <0.0002  <0.0002| 12 <0.0002| <0.0002  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0.004| 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0.002| 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001| 12 <0. 001 <0. 001 <0. 001
0. 08 <0. 06 <0. 06 <0. 06 <0. 06 <0.06| 12 0. 08 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0.002| 12 <0. 002 <0. 002 <0. 002
0. 005 0. 004 0. 002 0. 001 0. 001 <0.001| 12 0. 008 <0. 001 0. 004
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0.003| 12 0. 004 <0. 003 <0. 003
0. 004 0. 005 0. 005 0.003 0. 003 0.002| 12 0. 008 0. 002 0. 004
0. 001 0. 002 0. 002 0. 002 0. 002 0.001| 12 0.003 0.001 0. 002
0.014 0.015 0.013 0.007 0. 007 0.004| 12 0.027 0. 004 0.014
<0.003 <0.003 <0.003 <0. 003 <0.003 <0.003| 12 <0.003 <0.003 <0. 003
0. 005 0. 005 0. 004 0. 002 0. 002 0.002| 12 0. 009 0. 002 0. 005
<0. 001 0.001 0. 002 0. 001 0. 001 <0.001| 12 0. 002 <0. 001 <0. 001
<0. 008 <0.008 <0. 008 <0.008 <0. 008 <0.008| 12 <0. 008 <0. 008 <0.008
0.1 0.1 0.1 <0.1 0.1 0.1 12 <0.1 0.1 <0.1
0. 02 0. 02 0. 02 0. 02 0. 02 0.02| 12 0. 04 0. 02 0.03
0.1 0.1 0.1 <0.1 0.1 0.1 12 <0.1 0.1 <0. 1
11.7 16.9 16.0 16.5 16.5 15.7| 12 17.5 11.7 15.5
32 39 41 42 42 39| 12 42 32 38
82 105 102 100 102 99 12 111 82 100
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0.02| 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 al 12 <1 <1 <1
<1 <1 <1 <1 <1 1| 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005
<0.0005  <0.0005  <0.0005  <0.0005  <0.0005  <0.0005| 12/  <0.0005  <0.0005  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <€0.0002  <0.0002  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <€0.0004  <0.0004  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
2.3 2.8 2.7 3.2 2.4 2.0 12 3.2 1.7 2.4
<0.03 <0.03 4 <0. 03 <0.03 <0. 03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.4 -1.4 -1.4 -1.4 -1.5 -1.5| 12 -1.2 -1.5 -1.4
0 0 4 0 0 0
<0. 01 <0.01 4 <0.01 <0.01 <0.01
10 5 4 10 5 7
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R THK (FD3) EEFE

/] 5 7 10 2 [=1%5 1 =459 F-t5)
HH
1,3—y a2 (D—D) (mg/L) <0.0005|  <0.0005  <0.0005  <0.0005 4, <0.0005  <0.0005  <0.0005
22 —DPA (X F7K ) g/l <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
E P N (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
M C P A (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
T ¥ o = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
7 * 7 - — F (mg/L) <0.0008|  <0.0008|  <0.0008  <0.0008 4, <0.0008  <0.0008  <0.0008
VA ) = % > (mg/L) <0.0001  <0.0001  <0.0001|  <0.0001 4/ <0.0001  <0.0001|  <0.0001
7 = =4 N 2 (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
7 3 k = A (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
7 = 7 =i — L (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
A4 YV % B F A 2 (mg/L)| <0.00005 <0.00005 <0.00005 ~<0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ & A (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4 <0.00003  <0.00003  <0.00003
A Fuah7 (MIPC) (mg/L) <0.0001|  <0.0001| <0.0001|  <0.0001 4/ <0.0001  <0.0001|  <0.0001
AV 7aF 47 (1IPT) (mg/L) <0.003 <0.003 <0.003 <0.003 4 <0.003 <0.003 <0.003
A 77 = H N Y (mg/l)
A4 7 X2k A (IBP) (mg/L) <0.0009|  <0.0009|  <0.0009  <0.0009 4 <0.0009  <0.0009  <0.0009
A4 X 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4 <0.00006 <0.00006  <0.00006
A4 v X 7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009  <0.00009 4 <0.00009 <0.00009  <0.00009
— X 7 v H v 7 (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4/ <0.0003  <0.0003  <0.0003
— 7 = v 7 ua vy 7 A (ng/L) <0.0008  <0.0008|  <0.0008  <0.0008 4, <0.0008  <0.0008  <0.0008
TURZNNT 7 (R ) (mg/L) <0.0001  <0.0001| <0.0001  <0.0001 4/ <0.0001  <0.0001|  <0.0001
F % ¥ ¥ v Xk v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
I X 2 v 8 (A B 4 ) (mg/L)| <0.0004  <0.0004| <0.0004  <0.0004 4 <0.0004| <0.0004  <0.0004
F U ¥ X + r B ¥ (mg/l)
Vil z A N A (mg/L) | <0.000006/ <0.000006| <0.000006 <0.000006 4| <0.000006 <0.000006 <0.000006
B 7 = v A b v — JbL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008 <0.00008 <0.00008
Vi JL o % -~ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
o0 N U g (N A C ) (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4 <0.0003|  <0.0003  <0.0003
i) JL N 7 = > (mg/L) | <0.000003| <0.000003| <0.000003 <0.000003 4| <0.000003 <0.000003 <0.000003
* /27 73y (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
X ¥ 7 v > (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
4 2 Jv s > (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4, <0.0003  <0.0003  <0.0003
7 ] N A — F (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7o K ¥ X — b (mg/L) <0.0002|  <0.0002|  <0.0002  <0.0002 4, <0.0002|  <0.0002  <0.0002
7 v A 7 v v 7 (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
salr=ra7=> (CNP) (mg/L) €0.0001  <0.0001  <0.0001|  <0.0001 4, <0.0001  <0.0001  <0.0001
7 m JL B U 7 A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4 <0.00005 <0.00005 <0.00005
saoua o=, (TPN) (m/L) <0.0005  <0.0005|  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 T A ¥ > (mg/L) | <0.00001 <0.00001 <0.00001 <0.00001 4 <0.00001 <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4 <0.00003  <0.00003  <0.00003
> v nwaey (DCMU ) (mg/L) <0.0002|  <0.0002|  <0.0002  <0.0002 4, <0.0002| <0.0002/  <0.0002
> u~X=,L (DBN) (mg/L) <0.0003  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003|  <0.0003
)R A(DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008 <0.00008 <0.00008
DX 7 U 4 b (mg/L) <0.0001  <0.0001  <0.0001|  <0.0001 4, <0.0001  <0.0001|  <0.0001
2RI (= F )V FF AR ) (mg/L) | <€0.00004 <0.00004| <0.00004 <0.00004 4 <0.00004 <0.00004 <0.00004
CF A DN A — R E K (ng/L)
D 5P 7 = JL (mg/L) | <0.00009 <0.00009 <0.00009 <0.00009 4 <0.00009 <0.00009 <0.00009
oo\ ok oy 7 F L (mg/L) | <0.00006 <0.00006| <0.00006 ~ <0.00006 4 <0.00006 <0.00006  <0.00006
v < v v (C A T ) (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003 <0.00003 <0.00003
Y A X Xk U v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4, <0.0002  <0.0002  <0.0002
% A k - — k (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4/ <0.0005  <0.0005  <0.0005
D4 A K U v (mg/L) <0.0003|  <0.0003|  <0.0003  <0.0003 4, <0.0003|  <0.0003  <0.0003
vl A T D% J > (mg/L) | <0.00003 <0.00003| <0.00003 <0.00003 4 <0.00003 <0.00003 <0.00003
v A N s v (mg/L) <0. 008 <0. 008 <0. 008 <0.008 4 <0.008 <0. 008 <0.008
BT AN AR (T — /3 5) B (ng/L)
AFNAIFF T X —h
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R THK (FD4) BEEFE

¢ 5 7 10 2 EIE~ e K N3]

HH

¥ 7 D4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S 7 7 2 (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002  <0.0002| <0.0002
F 4 ¥ H v 7 (mg/L) <0.0008  <0.0008|  <0.0008|  <0.0008 4 <0.0008| <0.0008  <0.0008
F A+ 7 7 F — F A F L (ng/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F F X v H v 7 (mg/l) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
7 7 U o b U F v (mg/l)

TN T HLT (MBPMC) (ng/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
b U 7 = = JL (mg/L) <0.0003|  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003| <0.0003
U7k (DEP) (mg/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002/ <0.0002  <0.0002
KU v 7 7 vV — )b (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU o7 v 7 U (mg/l) <0.0006|  <0.0006  <0.0006  <0.0006 4, <0.0006  <0.0006| <0.0006
A i s N = K (mg/L) <0.0003|  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003| <0.0003
A 5 o — (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= ~ g N A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005| <0.00005
= = 7 s = L (mg/L) <0.0001| <0.0001  <0.0001  <0.0001 4/ <0.0001  <0.0001  <0.0001
E I Y X ¥ 7 =  (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004 <0.00004
o7V x—hk (I L —bF) (ng/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
U X 7 = v F F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005| <0.00005
vy 7 F v 7 (mg/l) <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
=4 =4 Sz o > (mg/L) <0.0005 ~ <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005  <0.0005
= 7 A =4 = JL (mg/L) | <0.000005 <0.000005 <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
Jxz=tuaF A+ (MEP) (mg/l) <0.0001  <0.0001|  <0.0001  <0.0001 4| <0.0001| <0.0001  <0.0001
72 /) 7 N7 (BPMC) (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4 <0.0003| <0.0003|  <0.0003
= = U VN ' > (mg/L) <0.0005  <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005  <0.0005
7z F F 2 (MPP) (mg/L)| <0.00006 <0.00006 <0.00006| <0.00006 4] <0.00006| <0.00006 <0.00006
7 x> b= — k(P AP) (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v N 7 ¥ I K (ng/L) <0.0001  <0.0001| <0.0001|  <0.0001 4/ <0.0001| <0.0001  <0.0001
= VA = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
A e 7 s — JL (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4 <0.0003| <0.0003|  <0.0003
-7 i S 2N A (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
7 7 ua 7 = ¥ v (mg/L) <0.0002  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002|  <0.0002
7 T v+ A (mg/l) <0.0003|  <0.0003  <0.0003|  <0.0003 4/ <0.0003  <0.0003| <0.0003
7 v F 7 7 v — b (ng/L) <0.0005|  <0.0005  <0.0005  <0.0005 4, <0.0005 ~ <0.0005| <0.0005
7 =4 D4 S N > (mg/L) <0.0009| <0.0009  <0.0009  <0.0009 4, <0.0009| <0.0009|  <0.0009
7 n F 4 A A (mg/L)| <0.00007 <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 v v =z F v — b (mg/l) <0.0005| <0.0005  <0.0005  <0.0005 4 <0.0005| <0.0005  <0.0005
A s = A = K (mg/L) <0.0005| <0.0005  <0.0005  <0.0005 4, <0.0005  <0.0005| <0.0005
7 a X ;v — )L (mg/L) <0.0003  <0.0003|  <0.0003|  <0.0003 4 <0.0003| <0.0003|  <0.0003
A =4 x 7 F K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J S L (mg/L) <0.0002| <0.0002  <0.0002|  <0.0002 4/ <0.0002  <0.0002| <0.0002
~ NZ VA4 =4 > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N Y v v 7 oa v (ng/l) <0.0009  <0.0009|  <0.0009| <0.0009 4 <0.0009| <0.0009|  <0.0009
~N o Y 7 = F w7 (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4/ <0.00005 <0.00005 <0.00005
~ N X 7 > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A XU v (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N 7 7 b 7 (mg/L) <0.0002| <0.0002  <0.0002|  <0.0002 4/ <0.0002  <0.0002| <0.0002
Ry (R2ryy) (ng/L) <0.0001| <0.0001  <0.0001  <0.0001 4/ <0.0001  <0.0001  <0.0001
~N v 7 L E — K (mg/L) <0.0007| <0.0007  <0.0007|  <0.0007 4/ <0.0007  <0.0007| <0.0007
A A F 7 ¥ — K (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
~7F v (~T Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
A2y 7 (MCPP) (ng/L) <0.0005| <0.0005  <0.0005  <0.0005 4, <0.0005 ~ <0.0005| <0.0005
A V4 S L (mg/L) <0.0003  <0.0003 ~ <0.0003  <0.0003 4/ <0.0003  <0.0003| <0.0003
A v = e v L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X FF > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004 <0.00004
A I 7 A v E Vv (ng/l) <0.0004| <0.0004  <0.0004|  <0.0004 4, <0.0004  <0.0004| <0.0004
A h ) -7 2 > (mg/L) <0.0003  <0.0003  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
A 7 = JF T v b (ng/L) <0.0002  <0.0002  <0.0002  <0.0002 4/ <0.0002/ <0.0002  <0.0002
A 7 =4 = L (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
e ) s — K (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4] <0.00005| <0.00005 <0.00005
J=! B8 A (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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